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TNPSC GROUP I – TEST BATCH 2022 
TEST IV – 6, 7, 8, 9, 10TH VOL 1 STD GEOGRAPHY 

 
1. The surface temperature of the Sun is _________ 

a. 6000°C  b. 5000°C   c. 4000°C   
d. 3000°C  e. Answer not known 
#hpadpd; Nkw;gug;G ntg;gepiy _________ MFk;.  
a. 6000°C  b. 5000°C   c. 4000°C   
d. 3000°C  e. tpil njhpatpy;iy 

 
2. Match the following  

A. Venus     1. God of War 
B. Mars    2. Messenger to Gods 
C. Mercury     3. God of Agriculture 
D. Jupiter     4. Goddess of Love & Beauty 
E. Saturn     5. King of Roman gods  
 A B C D E  
a. 4 1 2 5 3 
b. 3 2 1 5 4 
c. 3 5 1 2 4 
d. 4 3 5 2 1 
e. Answer not known 
nghUj;Jf:  
A. nts;sp    1. Nghh;f;flTs;  
B. nrt;tha;    2. flTspd; J}jh;  
C. Gjd;    3. Ntshz;ik flTs;  
D. tpahod;   4. md;G kw;Wk; mofpd; nja;tk;  
E. rdp    5. Nuhkhdpah;fspd; Kjd;ik flTs;  
 A B C D E  
a. 4 1 2 5 3 
b. 3 2 1 5 4 
c. 3 5 1 2 4 
d. 4 3 5 2 1 
e. tpil njhpatpy;iy 

 
3. Asteroid belt is found between ________ & ________ 

a. Venus, Earth   b. Earth, Mars  c. Mars, Jupiter   
d. Jupiter, Saturn   e. Answer not known 
rpWNfhs;fs; kz;lyk; ______ kw;Wk; _______ Nfhs;fSf;fpilNa fhzg;gLfpwJ. 
a. nts;sp> G+kp  b. G+kp> nrt;tha;   c. nrt;tha;> tpahod;  
d. tpahod;> rdp   e. tpil njhpatpy;iy 
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4. Find the Planet  
I. It is called as Earth’s twin  
II. It rotates in the Opposite direction to other planets 
III. It has no Natural satellite 
IV. It is the Brightest Natural object after Moon in the night sky.  
a. Venus    b. Mars    c. Saturn    
d. Jupiter    e. Answer not known 
Nfhisf; fz;lwpf: 
I. ,J G+kpapd; ,ul;ilf; Nfhs; vd miof;fg;gLfpwJ.  
II. ,J kw;w Nfhs;fSf;F vjph; jpirapy; Roy;fpwJ.  
III. ,jw;F ,aw;ifahd Jizf; Nfhs; ,y;iy 
IV. epytpw;F mLj;jgbahf ,utpy; gpufhrkhfj; njhpAk; tpz;nghUs;  
a. nts;sp    b. nrt;tha;    c. rdp   
d. tpahod;    e. tpil njhpatpy;iy 
 

5. Match the following  
A. Jupiter     1. Titan 
B. Saturn     2. Triton 
C. Uranus    3. Deimos 
D. Neptune    4. Titania 
E. Mars     5. Callisto  
 A B C D E 
a. 5 1 4 2 3  
b. 3 4 1 2 5  
c. 3 4 1 5 2 
d. 5 3 4 1 2 
e. Answer not known 
nghUj;Jf:  
A. tpahod;     1. ill;ld; 
B. rdp     2. biul;ld;  
C. ANud];     3. nla;Nkh];  

D. neg;bA+d;    4. illhdpah  
E. nrt;tha;     5. Nfyp];Nlh  
 A B C D E 
a. 5 1 4 2 3  
b. 3 4 1 2 5  
c. 3 4 1 5 2 
d. 5 3 4 1 2 
e. tpil njhpatpy;iy 
 

6. Consider the following statements 
1. Meteorites burn on entering the earth’s Atmosphere. 
2. The Velocity of earth’s rotation varies from 0 at poles, 1670 kmph at Equator; 845 

kmph at 60° N& S latitudes  
3. Terminator line separates earth into lighted and dark half.  
4. Earth’s rotation is 23 hours 56 minutes 4.09 seconds.  
5. The zones in Biosphere is called as Ecosystems. 

a. All are correct    b. All are wrong  c. 2, 3, 4, 5 alone correct   
d. 1, 2, 3, 4 alone correct  e. Answer not known 
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gpd;tUk; thf;fpaq;fis ftdp:  
1. tpz;fw;fs; Gtpapd; tspkz;lyj;ij milAk; NghJ vhpfpwJ.  
2. Gtpapd; RoYk; Ntfk; JUtg; gFjpapy; RopakhfTk;> epyeLf;Nfhl;Lg; gFjpapy; 1670 
fp.kP / kzp> 60° tlf;F ml;rNuifapy; 845 fp.kP / kzp  
3. xsph;T tl;lkhdJ Gtpia xspgLk; gFjpahfTk;> xspglhj gFjpahfTk; gphpf;fpwJ.  
4. Gtp xU Kiw RoYtjw;F 23 kzp 56 epkplq;fs; 4.09 tpdhbfs; vLj;J nfhs;fpwJ.  
5. caph;f;Nfhsj;jpy; cs;s "kz;lyq;fs; #oy; kz;lyq;fs;" vd;W miof;fg;gLfpd;wd.  
a. midj;Jk; rhp  b. midj;Jk; jtW   c. 2, 3, 4, 5 kl;Lk; rhp  
d. 1, 2, 3, 4 kl;Lk; rhp e. tpil njhpatpy;iy  

 
7. Consider the following statement.  

Assertion (A): The Earth has different Seasons  
Reason (R): The Inclination and Rotation causes different seasons.  
a. Both A and R is correct; R explains A 
b. Both A and R is correct; R doesn’t explains A 
c. A is correct; R is wrong  
d. A is wrong; R is correct  
e. Answer not known 
gpd;tUk; $w;Wfis ftdp: 
$w;W (A) : G+kp> gy;NtW gUtq;fisf; nfhz;Ls;sJ.  
fhuzk; (R): rha;T kw;Wk; Row;rp ntt;NtW gUtq;fis Vw;gLj;JfpwJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp> (A) Tf;F rhpahd tpsf;fk; (R) 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> (A) Tf;F rhpahd tpsf;fk; (R) my;y  
c. (A) rhp> (R) jtW  
d. (A) jtW> (R) rhp  
e. tpil njhpatpy;iy 
 

8. Match the following  
A. Aphelion    1. The Moon far away from Earth  
B. Apogee   2. The Earth far away from Sun 
C. Perihelion   3. The Earth close to Sun  
D. Perigee   4. The Moon close to Earth  
 A B C D  
a. 1 2 3 4  
b. 2 1 3 4  
c. 4 3 2 1 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf:  
A. #hpa Nra;ik   1. G+kpf;F njhiytpiy; epyT fhzg;gLk;  
B. mg;Ngh[p   2. G+kp> #hpaDf;F njhiytpy; fhzg;gLk; epfo;T  
C. #hpa mz;ik  3. #hpaDf;F mUfpy; G+kp fhzg;gLk;  
D. nghp[p   4. G+kpf;F mUfpy; epyT fhzg;gLk;  
 A B C D  
a. 1 2 3 4  
b. 2 1 3 4  
c. 4 3 2 1 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
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9. Match the following  
A. Gibraltar strait   1. Pacific and Artic ocean    
B. Bering strait   2. Bay of Bengal & Palk Bay  
C. Malacca strait   3. Atlantic and Mediterranean sea.  
D. Palk Strait    4. Pacific and Indian Ocean  
 A B C D  
a. 1 3 2 4  
b. 3 1 4 2 
c. 1 3 4 2  
d. 2 1 3 4  
e. Answer not known 
nghUj;Jf:  
A. [pg;uhy;lh; ePh;re;jp  1. gRgpf; kw;Wk; Mh;bf; ngUq;fly;  
B. nghpq; ePh;re;jp   2. tq;fhs tphpFlh kw;Wk; ghf; tisFlh  
C. kyhf;fh ePh;re;jp   3. ml;yhz;bf; kw;Wk; kj;jpa jiuf;fly;  
D. ghf; ePh;re;jp    4. gRgpf; kw;Wk; ,e;jpa ngUq;fly;  

A B C D  
a. 1 3 2 4  
b. 3 1 4 2 
c. 1 3 4 2  
d. 2 1 3 4 
e. tpil njhpatpy;iy  
 

10. Find the Incorrect pair.  
a. 6° Channel  - Indira point & Srilanka 
b. 8°  channel  - Maldives & Minicoy Islands 
c. 9°  Channel -  Lakshadweep & Minicoy Islands 
d.10° Channel - Andaman & Nicobar Islands 
e. Answer not known 
rhpahf nghUe;jhj ,iziaj; Njh;T nra;f.  
a. 6°fhy;tha;  - ,e;jpuh Kid & ,yq;if  
b. 8° fhy;tha;  - khyj;jPT & kpdpf;fha;jPT  
c. 9° fhy;tha;  - yl;rjPT & kpdpf;fha; jPT  
d. 10° fhy;tha;  - me;jkhd; & epf;Nfhghh; jPT   
e. tpil njhpatpy;iy 
 

11. India is the largest producer of __________ 
a. coal   b. Bauxite   c. Iron& Steel   
d. Mica   e. Answer not known 
,e;jpahtpy; mjpf msT cw;gj;jpahtJ _________  
a. epyf;fhp   b. ghf;irl;   c. ,Uk;G & v/F   
d. ikf;fh   e. tpil njhpatpy;iy 
 

12. Find the incorrect pair  
a. Rice bowl of SE Asia  -  Thailand 
b. Rice bowl of India  - Tamil Nadu 
c. Banaue rice Terrace  - 1524 m above sea level (Philippines)  
d. Rice bowl of world  - Vietnam  
e. Answer not known 
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rhpahf nghUe;jhj ,iziaj; Njh;T nra;f.  
a. njd;fpof;F Mrpahtpd; “mhprpf; fpz;zk;"  - jha;yhe;J  
b. ,e;jpahtpd; mhprpf;fpz;zk; - jkpo;ehL  
c. gdht; gbf;fl;L Kiw ney; - fly;kl;lj;jpypUe;J 1524 kP cauk; (gpypg;igd;];) 
d. cyfpd; mhprpf; fpz;zk; - tpal;ehk;  
e. tpil njhpatpy;iy 
 

13. Consider the following statement. 
1. Equator is the longest of longitudes, hence it is called as “The Great Circle “ 
2. The Surface Area of the Earth is 501.1 million sq.kilometers 
3. Ptolemy was the First to draw lines of longitude and latitude on a map 
4. The lines of latitude are found as semi circles covering 111 km at Equator and 79 

km at 45° longitude and no space between the lines at the poles 
5. 180° line of longitude is the International Date line  

a. All are correct   b. All are wrong   c. 1, 3, 5, 4  correct 2 wrong  
d. 1, 2, 4 wrong 3, 5 correct  e. Answer not known 
gpd;tUk; thf;fpaq;fis ftdpf;fTk;  
1. epyeLf;NfhL kw;w jPh;f;f NfhLfis tpl ePskhdit> vdNt ,f;NfhL 

"ngUtl;lk;" vd;W miof;fg;gLfpwJ.  
2. Gtp 501.1 kpy;ypad; rJu fpNyh kPl;lh; gug;gsitf; nfhz;ljhFk;.  
3. Kjd; Kjypy; epy tiuglj;jpy; ml;r jPh;f;ff; NfhLfis tiue;jth; jhykp 
4. ml;rNfhLfs; Gtpapy; epyeLf;Nfhl;Lg; gFjpapy; 111fp.kP ,ilntspapYk;> 45 

jPh;f;fj;jpy;> 79 fp.kP ,ilntspapYk;> JUtg;gFjpfspy; ,ilntspapd;wpAk; 
fhzg;gLfpd;wd.  

5. 180 thp jPh;f;f Nuif rh;tNjr Njjpf; NfhL  
 b. midj;Jk; rhp    c. midj;Jk; jtW  c. 1, 3, 5, 4 rhp 2 jtW   
 d. 1> 2> 4 jtW 3> 5 rhp   e. tpil njhpatpy;iy 
 

14. The latitudinal extent of Indian Main land is _________ 
a. 68° 7’ E to 97° 25’E b. 26°2’ E to 169° 40’W  c. 24° 33’ W to 69° 03’E  
d. 8.4° ’N to 37.6° ’N  e. Answer not known 
,e;jpahtpd; Kf;fpa epyj;jpd; ml;rNuif guty; _________.  
a. 68° 7’ fp Kjy; 97° 25’fp tiu  b. 26°2’ fp Kjy; 169° 40’ Nk tiu 
c. 24° 33’ Nk Kjy; 69° 03’fp tiu  d. 8° 4’t Kjy; 37° 6’ t tiu  
e. tpil njhpatpy;iy 
 

15. If your travel by road from Kogima to Kottayam, what is the minimum number of states 
within India through which you can travel (Include Origin and destination) 
a. 6  b. 7  c. 8  d. 9   e. Answer not known 
Nfh`pkhtpypUe;J Nfhl;laj;jpw;F rhiy topahf gazk; nra;jhy;> ePq;fs; gazpf;Fk; 
NghJ ,e;jpahtpy; flf;Fk; Fiwe;j gl;r khepyq;fspd; vz;zpf;if vj;jid 
Muk;gj;jpypUe;J KbAk; tiu?  
a. 6  b. 7  c. 8  d. 9   e. tpil njhpatpy;iy 
 

16. The Indian Geographer who first spoke about Solar and lunar eclipses is ________ 
a. Aryabhatta  b. Varaha mihira   c. Brahmagupta  
d. Bhaskaracharya  e. Answer not known 
#hpa kw;Wk; re;jpu fpufzq;fisg; gw;wp Kjypy; Ngrpa ,e;jpa Gtpapayhsh; ahh;?  
a. Mh;agl;lh   b. tuhfkpj;jpuh;    c. gpuk;kFg;jh  
d. gh];furhh;ah   e. tpil njhpatpy;iy 
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17. Match the following 
A. Bhopal Gas tragedy  1. 26 Jan 2001 
B. Chernnobyl Accident   2. 29 October 1999 
C. Super Cyclone Odisha  3. 2, 3 December 1984 
D. Gujarat earth quake   4. 25 – 31 December 2011 
E. Cyclone Thane    5. 26 April 1986  
 A B C D E  
a. 3 5 2 1 4  
b. 5 2 3 1 4  
c. 1 2 3 4 5  
d. 5 4 3 2 1 
e. Answer not known  
nghUj;Jf:  
A. Nghghy; tp~thA epfo;T  1. 26 [dthp 2001 
B. nrh;Ndhgpy; tpgj;J   2. 29 mf;Nlhgh;> 1999  
C. xbrhtpy; #g;gh; irf;Nshd; 3. 2> 3 brk;gh; 1984 
D. F[uhj;jpy; epyeLf;fk;   4. 25 – 31 brk;gh;> 2011  
E. jhNd Gay;   5. 26 Vg;uy;> 1986  
 A B C D E  
a. 3 5 2 1 4  
b. 5 2 3 1 4  
c. 1 2 3 4 5  
d. 5 4 3 2 1 
e. tpil njhpatpy;iy 
  

18. TSUNAMI Early Warning Center was set in  
a. 2004  b. 2005 c. 2006  d. 2007  e. Answer not known 

 TSUNAMI-d; Kd; mwptpg;G ikak; mikf;fg;gl;l Mz;L?  
a. 2004  b. 2005 c. 2006  d. 2007  e. tpil njhpatpy;iy 
 

19. Which of the following statements is/are incorrect regarding India 
1. India is the second largest country in Asia  
2. Seventh largest in the world  
3. India accounts for about 2.2% of the total area of the world 
4. India shares 15200 Km long length of the coast line  
5. India’s longest border is with Bangladesh  
6. India shares shortest border with Bhutan  
a. 1, 2, 5 b. 2, 5, 6  c. 3, 4, 6  d. 1, 3, 5     e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpahit gw;wpa $w;Wfspy; jtwhdit vit? 
1. ,e;jpah Mrpa fz;lj;jpd; ,uz;lhtJ ngupa ehL. 
2. gug;gstpy; cyfpd; VohtJ ngupa ehL ,e;jpah. 
3. Gtpapy; nkhj;jg; gug;gstpy; ,e;jpah 2.2% 
4. ,e;jpa 15200 fp.kP. ePsKs;s fly; vy;iyiaf; nfhz;Ls;sJ. 
5. ,e;jpah tq;fhsNjrj;Jld; ePz;l vy;iyia gfpu;fpwJ. 
6. ,e;jpah G+lhDld; kpfFWfpa vy;iyiag; gfpu;e;J nfhs;fpwJ. 
a. 1, 2, 5 b. 2, 5, 6  c. 3, 4, 6  d. 1, 3, 5     e. tpil njhpatpy;iy 
 

20. The southernmost point of India ___________ 
a. Indira col    b. Nicobar    c. Pygmalion point    
d. Kanniya Kumari   e. Answer not known 
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,e;jpahtpd; njd;Nfhb Kid ____. 
a. ,e;jpuhNfhy;  b. epf;Nfhghu;    c. gpf;Nkypad; Kid   
d. fd;dpahFkup  e. tpil njhpatpy;iy 
 

21. Arrange the heights of the given peaks in an ascending order  
1. Kanchenjunga   2. Nanga Parbat   3. Mt. Everest    
4. Dhaulagiri    5. Godwin Austen  6. Nanda Devi  
a. 4, 1, 6, 2, 3, 5  b. 4, 6, 2, 1, 5, 3  c. 6, 2, 4, 1, 5, 3   
d. 4, 2, 6, 1, 5, 3   e. Answer not known 
nfhLf;fg;gl;l rpfuq;fis mtw;wpd; cauj;jpd; mbg;gilapy; VWtupirapy; mikf;f. 
1. fQ;rd; [q;fh   2. eq;fh gu;tjk;  3. kTd;l; vtnu];l; 
4. njsyfpup    5. fhl;tpd; M];bd;  6. ee;jh Njtp 
a. 4, 1, 6, 2, 3, 5  b. 4, 6, 2, 1, 5, 3  c. 6, 2, 4, 1, 5, 3   
d. 4, 2, 6, 1, 5, 3   e. tpil njhpatpy;iy 
 

22. Consider the following 
1. Pirpanjal is the eastern off-shoots of Himalayas  
2. Garo, Khasi, Janitia Hills are located in Pirpanjal ranges  
3. Himalayas blocks southwest monsoon winds and causes heavy rainfall to North 

India   
4. The Kumaun Himalayas located between the rivers of Sutlej and Kali   

a. 1, 2, 4 are correct   b. Only 3, 4 are correct   c. 1, 2, 3 are incorrect  
d. Only 4 is correct    e. Answer not known 
gpd;tUtdtw;iw Ma;f 
1. gPu;gQ;ry; vd;gJ ,kakiyapd; fpof;Ff; fpis. 
2. fhNuh> fhrp> n[ae;jpah kiyfs; gPu;gQ;ry; njhlupy; mike;Js;sd. 
3. ,kakiy njd;Nkw;Fg; gUtf;fhw;wpidj; jLj;J tl ,e;jpahtpy; mjpf kiog; 

nghopit Vw;gLj;Jfpd;wJ. 
4. FkhA+d; ,kakiyfs; rl;ny[; kw;Wk; fhsp MWfSf;fpilNa mike;Js;sJ. 

a. 1>2>4 rup   b. 3>4 rup   c.1>2>3 jtW   
d. 4 kl;Lk; rhp  e. tpil njhpatpy;iy 
 

23. Consider the following statements about Great Northern Plains 
1. Fertile land of the eight north Indian states forms the great northern plains  
2. Length of great northern plains is about 2400 Km  
3. This plains covers an area of over 7 Lakh sq. Km  
a. 2, 3 are correct   b. 1, 2 are correct   c. 1, 3 are correct    
d. 1, 2, 3 are correct   e. Answer not known 
tlngUk; rkntspfs; gw;wpa gpd;tUk; $w;Wfis Muha;f 
1. tl,e;jpahtpy; vl;L khepyq;fspd; tskhd rkntspfNs tlngUk; rkntspahf 

gutpf; fhzg;gLfpd;wJ. 
2. ,jd; ePsk; 2400 fp.kP. 
3. ,J 7 yl;rk; rJu fp.kP. gug;gstpw;F gutpAs;sJ. 
a. 2> 3 rup   b. 1> 2 rup   c. 1> 3 rup   
d. 1> 2> 3 jtW  e. tpil njhpatpy;iy 
  

24. Match the following: 
A. Bhabar plain  1. New alluvial tracts 
B. Tarai Tract   2. Composed of gravels and Unassorted Sediments     
C. Khadar Plains  3. Older alluvial tracts 

 D. Bhangar Plains  4. Zone of excessive dampness 
 A B C D 
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a. 1 2 3 4 
b. 2 4 1 3 
c. 2 4 3 1 
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf. 
A. ghgu; rkntsp  1. Gjpa tz;ly; kz; 
B. juha; kz;lyk;  2. ngUkzy;fs;> gyjug;gl;l gbTfshy; MdgFjp 

 C. fhju; rkntsp  3. gioa tz;ly; kz; gFjp 
D. ghq;fu; rkntsp  4. mjpf <ug;gjk; nfhz;l gFjp 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 2 4 3 1 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
 

25. Which of the following river divides the plateau region of India into two parts. 
a. Tapti  b. Godavari    c. Narmada   
d. Mahanadi  e. Answer not known 
gpd;tUtdtw;Ws; ve;j MW ,e;jpahtpd; gPlG+kpg; gFjpia ,uz;lhfg; gpupf;fpwJ? 
a. jgjp  b. Nfhjhtup    c. eu;kij   
d. k`hejp  e. tpil njhpatpy;iy 
 

26. Consider the following 
Assertion (A) : Narmada and Tapti are the two river situated to the south of the 
Vindhyas Flow westward. 
Reason (R) : The movement towards west is due to the presence of rift valley. 
a. Both (A) and (R) are true, and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
c. (A) is true, but (R) is False 
d. (A) is false, but (R) is True 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): eu;kij kw;Wk; jgjp Mfpa ,U MWfSk; tpe;jpa kiyf;F njw;fpy; 
mike;Js;s Nkw;F Nehf;fpg; ghAk; MWfs;. 
fhuzk; (R) : gpsT gs;sj;jhf;F cs;sNj ,t;tpU MWfs; Nkw;F Nehf;fpg; ghaf; 
fhuzkhFk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fky;y  
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup  
e. tpil njhpatpy;iy 
 

27. Find out the odd one from the following? 
a. Godavari  b. Narmada    c. Krishna   
d. Kaveri  e. Answer not known 
gpd;tUtdtw;Ws; nghUe;jhj xd;iwf; fz;Lgpb. 
a. Nfhjhtup  b. eu;kij    c. fpU~;zh   
d. fhtpup  e. tpil njhpatpy;iy 

28. The western part of the central Highland is _____. 
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a. Bundelkhand  b. Bagelkhand  c. Chhota – Nagpur Plateau  
d. Malwa Plateau  e. Answer not known 
kj;jpa cau;epyg;gFjpapd; Nkw;Fg; gFjp ____. 
a. gz;ly; fz;l;  b. ghfy; fz;l;  c. Nrhl;lh ehf;G+u; gPlG+kp   
d. khstg; gPlG+kp  e. tpil njhpatpy;iy 
 

29. The Eastern Ghats and Western Ghats joins at _____ 
a. Kanniyakumari  b. Nilgiris    c. Anaimalai  
d. Doddabetta  e. Answer not known 
Nkw;F njhlu;r;rp kiyfSk; fpof;F njhlu;r;rp kiyfSk; re;jpf;Fkplk; ____. 
a. fd;dpahFkup  b. ePyfpup    c. Midkiy  
d. njhl;lngl;lh  e. tpil njhpatpy;iy 
 

30. Which of the following statements about Thar desert is/are correct? 
1. World 9th largest sub tropical desert. 
2. World 17th largest desert. 
3. Actual desert region is Marusthali 
4. Semi desert region is Bhangar. 
a. 1, 2, 3, 4 are correct  b. 1, 2 are correct   c. 3, 4 are correct  
d. 1, 3, 4 correct   e. Answer not known  
jhu; ghiytdk; gw;wp gpd;tUk; $w;Wfspy; rupahdit vit? 
1. cyfpy; 9 MtJ ngupa cg mad kz;ly ghiytdk; 
2. cyfpd; 17tJ kpfg; ngupa ghiytdk; 
3. cz;ikahd ghiytdg;gFjp kU];jyp vd;wiof;fg;gLfpwJ. 
4. miu ghiytdg;gFjp ghq;fu; vd;wiof;fg;gLfpwJ. 
a. 1>2>3>4 rup    b. 1>2 rup    c. 3>4 rup  
d. 1>3>4 rup    e. tpil njhpatpy;iy 
  

31. Consider the following statements 
I. The shape of Deccan Plateau is Triangle. 
II. Area of Deccan plateau covers 7 lakh square km. 
a. Both I, II are correct  b. Only I is correct   c. Only II is correct  
d. Both I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
I. jf;fhzg; gPlG+kp Kf;Nfhz tbtpy; cs;sJ. 
II. ,jd; gug;gsT 7 yl;rk; rJu fp.kP. 
a. I, II Mfpa ,uz;LNk rup b. I kl;Lk; rup   c. II kl;Lk; rup  
d. I, II Mfpa ,uz;LNk jtW e. tpil njhpatpy;iy  
 

32. Which of the following statements is/are correct? 
1. Coastal plain between Mahanadi and Godavari is known as the northern circars. 
2. The Southern part lies between Krishna and Kaveri is called Coromandal coast. 
3. Kolleru lake lies between the deltas of Krishna and Kaveri 
4. The pulicat Lake lies in the border of Andhra Pradesh and Tamil Nadu. 
a. 1, 2, 3, 4 are correct  b. 1, 2, 4 are correct  c. Only 1, 2 are correct  
d. Only 2, 4 are correct  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. kfhejpf;Fk; Nfhjhtup ejpf;Fk; ,ilg;gl;l gFjp tlru;f;fhu; vd;wiof;fg;gLfpwJ. 
2. fpU~;zh kw;Wk; fhNtup ,ilg;gl;l gFjp Nrhokz;ly flw;fiu vd;wiof;fg;gLfpwJ. 
3. fpU~;zh Mw;Wf;Fk; fhtpup Mw;Wf;Fk; ,ilNa nfhy;NyU Vup mike;Js;sJ. 
4. jkpo;ehL kw;Wk; Me;jpug; gpuNjr vy;iyapy; Gypfhl; Vup mike;Js;sJ. 
a. 1> 2> 3> 4 rhp   b. 1> 2> 4 rhp   c. 1> 2 kl;Lk; rup  
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d. 2>4 kl;Lk; rup   e. tpil njhpatpy;iy 
 

33. Consider the following statements 
I. The southern tip, the Indiracol is a part of Nicobar Island 
II. Kavaratti is the administrative capital of Lakshadeep. 
III. Laccadive, Minicoy and Amindivi were collectively named as Lakshadweep in 

1973. 
IV. The uninhabited “pitt Island” of Lakshadweep has a wildlife sanctuary. 

a. I,II,III,IV are correct  b. I, II, III are correct  c. Only II, III are correct  
d. Only I, II are correct  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
I. ,e;jpahtpd; njd;Nfhb Kidahd ,e;jpuNfhy; epf;Nfhghu; jPtpy; mike;Js;sJ. 
II. ftuhl;b vd;gJ yl;rj;jPTfspd; jiyefuk;. 
III. ,yl;rj;jPT> kpdpf;fha; kw;Wk; mkpdpj; jPT $l;lq;fs; 1973-Mk; Mz;L Kjy; 

,yl;rj;jPTfs; vd miof;fg;gLfpd;wJ. 
IV. ,yl;rj;jPtpYs;s kdpjh;fs; trpf;fhj gpl;jPT gFjpapy; tdtpyq;F ruzhyak; 

mike;Js;sJ. 
a. I, II, III, IV rup   b. I, II, III rup   c. II, III kl;Lk; rup   
d. I, II kl;Lk; rup   e. tpil njhpatpy;iy 
 

34. The largest tributary of Indus is ____. 
a. Sutlej  b. Jhelum    c. Ravi   
d. Chenab  e. Answer not known 
rpe;Jejpapd; kpfg;ngupa JizahW _____. 
a. rl;y[;  b. [Pyk;    c. uhtp   
d. rpdhg;  e. tpil njhpatpy;iy 
 

35. Match the following: 
Rivers    Origin  
A. Indus    1. Nasik  
B. Brahmaputra  2. Raipur 
C. Mahanadi   3. Chemayungdung  
D. Godavari   4. Kailash range  

A B C D 
a. 4 2 3 1 
b. 4 2 1 3 
c. 4 3 2 1 
d. 4 3 1 2  e. Answer not known 
 nghUj;Jf 
MWfs;   Njhd;Wkplk; 
A. rpe;J   1. ehrpf; 
B. gpuk;kGj;jpuh  2. uha;g;G+u; 
C. kfhejp   3. nrk;khAq;lq; 
D. Nfhjhtup   4. ifyhr kiyj;njhlu; 
 A B C D 
a. 4 2 3 1 
b. 4 2 1 3 
c. 4 3 2 1 
d. 4 3 1 2  e. tpil njhpatpy;iy 

36. Which of the following statements is/are correct? 
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1. The river Brahmaputra is known as the river Bathma in Bangladesh  
2. The river Ganga is called as Jamuna in Bangladesh  
a. Both 1, 2 are correct   b. Only 1 is correct   c. Only 2 are correct  
d. Both 1, 2 are incorrect   e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. tq;fNjrj;jpy; gpuk;kGj;jpuh MW gj;kh vd;w ngaupy; miof;fg;gLfpd;wJ. 
2. fq;if ejp tq;fNjrj;jpy; [Kdh vd;W miof;fg;gLfpd;wJ. 
a. 1> 2 Mfpa ,uz;LNk rup b. 1 kl;Lk; rup  c. 2 kl;Lk; rup  
d. 1> 2 Mfpa ,uz;LNk jtW  e. tpil njhpatpy;iy  
 

37. Match the following: 
Rivers   Origin  
A. Krishna   1. Betul  
B. Kaveri   2. Mahabaleshwar 
C. Narmada   3. Kudagu  
D. Tapti  4. Amarkantak  
 A B C D 
a. 2 1 3 4 
b. 2 3 1 4 
c. 2 3 4 1 
d. 2 4 1 3 
e. Answer not known 
nghUj;Jf: 
MWfs;  Njhd;Wkplk; 
A. fpU~;zh  1. ngl;Ly; 
B. fhtpup  2. kfhgNy~;tu; 
C. eu;kij  3. FlF 
D. jgjp  4. mku;fz;lf; 
 A B C D 
a. 2 1 3 4 
b. 2 3 1 4 
c. 2 3 4 1 
d. 2 4 1 3 
e. tpil njhpatpy;iy 
 

38. The largest west flowing river in India is __________ 
a. Sabarmati   b. Mahi   c. Tapti   
d. Narmada   e. Answer not known 
,e;jpahtpy; Nkw;F Nehf;fpg; ghAk; MWfspy; kpfg;ngupa MW ____. 
a. rgu;kjp  b. kh`p   c. jgjp   
d. eu;kij  e. tpil njhpatpy;iy 
  

39. In which river the Gerosappa (jog) falls is found? 
a. Kaveri  b. Krishna    c. Godaveri   
d. Sharavati   e. Answer not known 
n[Nuhrhg;gh ePu;tPo;r;rp ve;j ejpapy; mike;Js;sJ? 
a. fhtpup   b. fpU~;zh   c. Nfhjhtup   
d. ruhtjp  e. tpil njhpatpy;iy 
 

40. Which of the following statements is/are correct? 
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1. Mawsynram receives highest rainfall in the world  
2. Mawsynram is located in Mizoram  
3. Over all about 65% of Indian rainfall is received from southwest monsoon  
4. 35% of Indian rainfall is received from northeast monsoon  
a. 1, 2, 3, 4 are correct  b. 1, 2, 4 are correct   c. 2, 3 are correct    
d. 1, 4 are correct    e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. nksrpd;uhk; cyfpy; mjpf kiog;nghopT ngWk; gFjp. 
2. nksrpd;uhk; kpNrhuk; khepyj;jpy; mike;Js;sJ. 
3. ,e;jpahtpy; xl;Lnkhj;j kiog;nghopT 65% njd;Nkw;Fg; gUtf;fhw;W fhyj;jpy; 

fpilf;fpwJ. 
4. 35% kiog;nghopT tlfpof;F gUtf;fhw;W fhyj;jpy; ,e;jpahtpy; nghopfpwJ. 
a. 1> 2> 3> 4 rup  b. 1> 2> 4 rup   c. 2> 3 rup   
d. 1> 4 rup   e. tpil njhpatpy;iy 
  

41. Consider the following statements 
I. Normal lapse rate: Temperature decreases at the rate of 65°C for every 1000 meters  
II. Weather refers to the state of atmosphere of a place at a given point of time. 
III. The word ‘monsoon’ is derived from the Arabic word ‘mausim’ which means 

‘season’. 
IV. Sahara desert is the driest place on the earth. 
a. I, II, III, IV are correct  b. I, III, IV are correct  c. I, II are correct  
d. II, III are correct   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
I. ,ay;G ntg;g tPo;r;rp : Gtpgug;gpypUe;J caNu nry;ynry;y tspkz;lyj;jpy; 

xt;nthU 1000kP cauj;jpw;Fk; 65°C ntg;gepiy FiwtJ. 
II. thdpiy vd;gJ xU Fwpg;gpl;l ,lj;jpy; cs;s tspkz;lyj;jpd; jd;ikiaf; 

Fwpg;gjhFk;. 
III. “khd;#d;” vd;wnrhy; “nksrpk;” vd;w muG nrhy;ypypUe;J ngwg;gl;lJ. ,jd; 

nghUs; gUtfhyk;. 
IV. r`huhg; ghiytdk; G+kpapNyNa twz;l gFjpahFk;. 
a. I, II, III, IV rup   b. I, III, IV rup    c. I, II rup  
d. II, III rup    e. tpil njhpatpy;iy 
 

42. Consider the following statements   
I. Western disturbance causes rain fall in Karnataka 
II. ‘Mango Showers’ helps in quick ripening of mangoes along the coast of Kerala 

and Karnataka. 
III. Monsoon in India is influenced by global phenomenon like El Nino. 
IV. Southwest monsoon is also called as Retreating monsoon. 

a. I, II, III, IV are correct  b. II, III, IV are correct c. Only II, III are correct  
d. Only III, IV are correct  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
I. Nkw;fj;jpa ,ilA+Wfs; `upahdhtpy; kioiaj; jUfpd;wd. 
II. khQ;rhuy; jkpo;ehL kw;Wk; fu;ehlff; flw;fiu gFjpfspy; tpisAk; khq;fha;fs; 

tpiutpy; Kjpu;tjw;F cjTfpwJ. 
III. cyfshtpa fhyepiy epfo;thd “vy;epNdh” ,e;jpa gUtf;fhw;W fhyj;jpy; 

jhf;fj;ij Vw;gLj;JfpwJ. 
IV. njd;Nkw;Fg; gUtf;fhw;W gpd;dilAk; gUtf;fhw;W vdTk; miof;fg;gLfpd;wd. 
a. I, II, III, IV rup   b. II, III, IV rup   c. II, III kl;Lk; rup 
d. III, IV kl;Lk; rup   e. tpil njhpatpy;iy 

43. Match the following 
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Seasons    Period 
A. Winter    1. January – February 
B. Summer    2. March – May 
C. Northeast monsoon  3. June – September 
D. Southwest monsoon  4. October – November 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3  
d.  1 2 4 3 
e. Answer not known 
nghUj;Jf: 
fhyepiy    fhyk; 
A. Fspu;fhyk;   1. [dtup – gpg;utup 
B. Nfhilf;fhyk;   2. khu;r; - Nk 
C. tlfpof;F gUtf;fhw;W  3. [_d; - nrg;lk;gu; 
D. njd;Nkw;F gUtf;fhw;W  4. mf;Nlhgu; - etk;gu; 
 A B C D 
 a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 2 4 3 
e. tpil njhpatpy;iy 
 

44. Consider the following 
Assertion (A) : Rajasthan and Western part do not get much rainfall from Arabian sea 
branch of southwest monsoon. 
Reason (R) : Aravalli mountain is located parallel to the wind direction. 
a. Both (A) and (R) are true, and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : ,uh[];jhd; kw;Wk; tl,e;jpahtpd; Nkw;FgFjp njd;Nkw;F gUtf;fhw;wpdhy; 
kio ngWtjpy;iy. 
fhuzk; (R) : Muty;yp kiyj;njhlu; ,f;fhw;W tPRk; jpirf;F ,izahf mike;Js;sJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fky;y. 
c. (A) rup> Mdhy; (R) jtW. 
d. (A) jtW> Mdhy; (R) rup.  
e. tpil njhpatpy;iy  
  

45. Consider the following  
I. The delta of the Ganga – Brahmaputra has the largest tidal forest. 
II. The Indian Board for wildlife was constituted in 1952. 
III. Wildlife (protection) Act were enacted in 1980. 
IV. United Nations convention on biological diversity held in 1993. 
a. I, II, III, IV are correct  b. I, II, III are correct  c. I, II are correct  
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d. III, IV are correct   e. Answer not known 
gpd;tUtdtw;iw Ma;f 
I. fq;if – gpuk;kGj;jpuh nly;lh gFjpfspy; cyfpd; kpfg; ngupa rJg;G epyf;fhLfs; 

cs;sd. 
II. 1952 Mk; Mz;L ,e;jpa tdtpyq;F thupak; epWtg;gl;lJ. 
III. tdtpyq;F ghJfhg;G rl;lk; 1980-,y; ,aw;wg;gl;lJ. 
IV. If;fpa ehLfs; rigapy; capupay; gd;ik kuG khehL 1993 ,y; eilngw;wJ. 
a. I, II, III, IV rup   b. I, II, III rup   c. I, II rup   
d. III, IV rup    e. tpil njhpatpy;iy 
  

46. Which is the state animal of Andhrapradesh, Haryana and Punjab? 
a. Nilgiri Tahr  b. Ganges Dolphin  c. Asiatic Lion  
d. Black Buck   e. Answer not known 
Me;jpuh> `upahdh kw;Wk; gQ;rhg; khepyq;fspd; khepy tpyq;F vJ? 
a. ePyfup tiuahL  b. fq;if lhy;/gpd;  c. Mrpa rpq;fk;  
d. fiykhd;   e. tpil njhpatpy;iy 
 

47. Match the following  
Biosphere Reserves   State 
A. Dibru Saikowa   1. Assam 
B. Dihang Dibang   2. Arunachal Pradesh 
C. Nokrek    3. Meghalaya 
D. Nanda Devi   4. Uttarakhand 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 2 4 3 
e. Answer not known 
nghUj;Jf: 
capu;f;Nfhs fhg;gfq;fs;  khepyk; 
A. jpg;U nra;nfhth   1. mrhk; 
B. jpNfq; jpgq;   2. mUzhr;ry; gpuNjrk; 
C. ehf;nuf;    3. Nkfhyah 
D. ee;jh Njtp   4. cj;ufhz;l; 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 2 4 3 
e. tpil njhpatpy;iy 
 

48. Which is the highest gravity dam in the World? 
a. Kariba dam   b. Hirakud   c. Bhakra – Nangal   
d. Mettur dam   e. Answer not known 
cyfpd; ngupa Gtp <u;g;G miz vJ? 
a. fupgh miz   b. `puhFl;   c. gf;uh - eq;fy;   
d. Nkl;^u; miz   e. tpil njhpatpy;iy 
 

49. Match the following  
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Revolution    Related Product 
A. Yellow Revolution  1. Jute production 
B. Brown Revolution  2. Oil seed production 
C. Golden Fibre Revolution 3. Fruits/Honey/Horticulture 
D. Golden Revolution  4. Leather/Cocoa/Non. Conventional Products 
 A B C D 
a. 3 1 4 2 
b. 3 4 1 2 
c. 2 4 1 3 
d. 2 4 3 1 
e. Answer not known 
nghUj;Jf. 
Gul;rpfs;    cw;gj;jpfs; 
A. kQ;rs; Gul;rp   1. rzy; cw;gj;jp 
B. gOg;G Gul;rp   2. vz;nza; tpj;Jf;fs; 
C. jq;f E}ypiog; Gul;rp  3. goq;fs;/Njd;/Njhl;lfiyg;gapu; 
D. nghd;Gul;rp   4. Njhy;> Nfhf;Nfh> kuGrhuh cw;gj;jp 
 A B C D 
a. 3 1 4 2 
b. 3 4 1 2 
c. 2 4 1 3 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
 

50. Which of the following soil is very rich in humus? 
a. Laterite soil  b. Alluvial soil  c. Black soil    
d. Mountain soil  e. Answer not known 
gpd;tUk; ve;j kz;zpy; mjpfkhd ,iykf;F rj;Jf;fs; cs;sd? 
a. ruis kz;  b. tz;ly; kz;  c. fupry; kz;   
d. kiykz;   e. tpil njhpatpy;iy 
 

51. Which of the following statements about Laterite soil is/are correct? 
1. Formation : Regions where alternate wet and hot dry conditions prevail. 
2. Chemical Properties: Composed mainly of oxides of iron and aluminium. 
3. Nature : More basic in higher areas 
4. Crops growing: Wheat, Rice, Cotton, Sugarcane 
a. 1,2,3,4 are correct   b. 1,2,3 are correct  c. Only 1,2 are correct  
d. Only 3,4 are correct  e. Answer not known 
ruis kz; gw;wp gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. cUthf;fk; : ntg;gk; kw;Wk; Fspu; mLj;jLj;J epfOk;NghJ kz;Rtuy; fhuzkhf 
cUthfpwJ. 
2. Ntjpapay; gz;Gfs;: ,Uk;G kw;Wk; mYkpdpaj;jpd; ePNuw;w Mf;irLfshy; cUthdJ. 
3. jd;ik : caukhd gFjpfspy; mjpf fhuj;jd;ik. 
4. tsUk; gapu;fs; : NfhJik> ney;> gUj;jp> fUk;G 
a. 1> 2> 3> 4 rup   b. 1>2>3 rup   c. 1> 2 kl;Lk; rup  
d. 3> 4 kl;Lk; rup   e. tpil njhpatpy;iy 
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52. Which of the following statements about alluvial soil is/are correct? 
1. Rich in nitrogen 
2. Poor in Potash 
3. Distribution: Ganga and Brahmaputra river valleys. 
4. Crops growing : Rice, wheat, sugarcane, oilseeds. 
a. 1, 2, 3, 4 are correct  b. 1, 2, 3 are correct  c. Only 1, 2 are correct  
d. Only 3, 4 are correct  e. Answer not known 
tz;lykz; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
1. iel;u[d; rj;J mjpfk;. 
2. nghl;lhrpak; rj;J kpf FiwT. 
3. guty; : fq;if kw;Wk; gpuk;kGj;jpuh Mw;Wg; gs;sjhf;Ffs;. 
4. tsUk; gapu;fs; : ney;> NfhJik> fUk;G> vz;nza; tpj;Jf;fs;. 
a. 1>2>34 rup    b. 1>2>3 rup   c. 1>2 kl;Lk; rup  
d. 3>4 kl;Lk; rup   e. tpil njhpatpy;iy 
 

53. Match the following 
Name of Projects   River 
A. Nagarjunasagar   1. Mahanadi 
B. Indira Gandhi Canal Project 2. Kaveri 
C. Hirakud Project   3. Krishna 
D. Mettur Dam   4. Sutlej 
E. Sardar Sarovar   5. Narmada 
 A B C D E 
a. 1 4 3 2 5 
b. 4 3 1 2 5 
c. 3 4 1 2 5 
d. 1 2 3 4 5 
e. Answer not known 
nghUj;Jf 
jpl;lq;fs;    MW 
A. ehfhu;[{dh rhfu;   1. kfhejp 
B. ,e;jpuhfhe;jp fhy;tha;  2. fhtpup 
C. `puhFl; jpl;lk;   3. fpU~;zh 
D. Nkl;^u; miz   4. rl;ny[; 
E. ru;jhu; rNuhtu;   5. eu;kij 
 A B C D E 
a. 1 4 3 2 5 
b. 4 3 1 2 5 
c. 3 4 1 2 5 
d. 1 2 3 4 5 
e. tpil njhpatpy;iy 
 

54. Which of the following statements is/are correct? 
1. Canal irrigation is the second most important source of irrigation in India. 
2. Well irrigation contributes about 62% of net irrigated area in India. 
3. Well irrigation is a very old system in India. 
4. Tank irrigation is popular in north India 
a. 1, 2, 3, 4 are correct  b. 1, 2, 3 are correct   c. 1, 2 are correct  
d. 3, 4 are correct   e. Answer not known 
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gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. fhy;tha; ghrdk; ,e;jpahtpd; ,uz;lhtJ kw;Wk; Kf;fpakhd ePu;g;ghrd MjhukhFk;. 
2. ,e;jpahtpd; nkhj;j ghrd gug;gstpy; 62% fpzw;W ghrdj;jpd; fPo; cs;sJ. 
3. fpzw;Wg;ghrdk; ,e;jpahtpd; kpf goikahd ghrdKiwahFk;. 
4. Vupg;ghrdk; tl,e;jpahtpy; ngUk;ghYk; gpd;gw;wg;gLfpwJ. 
a. 1> 2> 3> 4 rup   b. 1> 2> 3 rup    c. 1> 2 rup  
d. 3> 4 rup    e. tpil njhpatpy;iy 
 

55. Which of the following is not a Kharif crop? 
a. Paddy  b. Cotton   c. Mustard   
d. Bajra  e. Answer not known 
gpd;tUtdtw;wpy; ve;j gapu; fhup/g; gUtj;ijr; Nru;e;jJ my;y? 
a. ney;  b. gUj;jp   c. fLF   
d. fk;G  e. tpil njhpatpy;iy 
 

56. Which of the following statements is/are wrong? 
1. Kharif season : June – October 
2. Rabi season : October – March 
3. Zaid season : March – June 
a. 1,2,3  b. 2,3  c. Only 1 d. 1,3  e. Answer not known 
gpd;tUk; $w;Wfspy; vit jtwhdit? 
1. fhup/g; gUtk; : [_d; - mf;Nlhgu; 
2. uhgp gUtk; : mf;Nlhgu; - khu;r; 
3. iraj; gUtk; : khu;r; - [_d; 
a. 1>2>3  b. 2>3  c. 1 kl;Lk; d. 1> 3 e. tpil njhpatpy;iy 
 

57. Which of the following statements is/are correct? 
1. India is ranked third in sugarcane production in the world after Cuba and Brazil. 
2. India is the second largest producer of sugar in the world. 
3. Uttar Pradesh is the leading producer of sugarcane. 
4. Chattisgarh is known as sugarbowl of India. 
a. 1,2,3,4  b. 1,2,3 c. 1,2  d. only 3 e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpah fUk;G cw;gj;jpapy; fpA+gh> gpNurpy; mLj;J cyfstpy; %d;whkplk;. 
2. ,e;jpah ru;f;fiu cw;gj;jpapy; cyfstpy; ,uz;lhkplk;. 
3. ,e;jpahtpy; cj;jug;gpuNjrk; fUk;G cw;gj;jpapy; Kjd;ik khepykhf cs;sJ. 
4. rj;jP];fu; ,e;jpahtpd; ru;f;fiuf; fpz;zk; vd;wiof;fg;gLfpd;wJ. 
a. 1>2>3>4  b. 1>2>3 c. 1>2  d. 3 kl;Lk; e. tpil njhpatpy;iy 
 

58. Which of the following statements is/are wrong? 
1. India is the second largest producer of cotton, groundnut, Jute, Tea, Fruits and 

Vegetables in the world. 
2. Arabica and Robusta are two main varities of tea. 
3. Gujarath is India’s largest oilseeds producing state. 
4. Bohea and Assamica are two main varities of coffee. 

a. 1, 2  b. 2, 3  c. 3, 4   d. 2, 4  e. Answer not known 
gpd;tUk; $w;Wfspy; vit jtwhdit? 
1. ,e;jpah gUj;jp> epyf;fliy> rzy;> Njapiy> goq;fs; kw;Wk; fha;fwpfs; 

cw;gj;jpapy; cyfstpy; ,uz;lhtJ ,lk;. 
2. muhgpfh kw;Wk; nuhg];lh Mfpait Njapiyapd; ,U Kf;fpa tiffs;. 
3. ,e;jpahtpy; F[uhj; khepyk; vz;nza; tpj;Jf;fs; cw;gj;jpapy; Kjyplk;. 
4. G+fp kw;Wk; mrhkpfh Mfpait fhg;gpapd; ,uz;L Kf;fpa tiffs;. 
a. 1> 2  b. 2> 3 c. 3> 4   d. 2> 4 e. tpil njhpatpy;iy  
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59. Which of the following is/are correct in descending order of coals based on Carbon 
content? 
I. Bituminous II. Peat  III. Lignite  IV. Anthracite 
a. II, III, I, IV   b. II, III, IV, I   c. IV, I, II, III    
d. IV, I, III, II   e. Answer not known 
epyf;fupfs; cs;slf;fpa fhu;gd; rjtPj mbg;gilapy; ,wq;Ftupirapd;gb 
gpd;tUtdtw;Ws; vJ rupahdJ? 
I. gpl;Lkpd];  II. gPl;   III. ypf;idl;  IV. Me;juhirl; 
a. II, III, I, IV   b. II, III, IV, I   c. IV, I, II, III    
d. IV, I, III, II   e. tpil njhpatpy;iy 
 

60. Which of the following statements is/are correct? 
1. Copper is the first metal that is used by the prehistoric man. 
2. Brass and Bronze are obtained when the copper alloys with tin and zinc respectively. 
3. The largest deposits of manganese is found in Jharkhand. 
4. India is the fifth largest producer of manganese in the world. 
a. 1, 2, 3, 4 are correct  b. 1, 2, 3 are correct  c. Only 1, 2 are correct  
d. Only 1, 4 are correct  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. jhkpuk; tuyhw;Wf;F Ke;ija kdpjdhy; gad;gLj;jg;gl;l Kjy; cNyhfk;. 
2. jhkpuj;ij Jj;jehfj;Jld; fye;J ntz;fyKk;> jfuj;Jld; Nru;j;J gpj;jisAk; 

cUthf;fg;gLfpd;wJ. 
3. khq;fdpR gbT mjpfKs;s khepyk; [hu;f;fz;l; 
4. cyfstpy; khq;fdpR cw;gj;jpapy; ,e;jpah Ie;jhkplk;. 
a. 1> 2> 3> 4 rup   b. 1> 2> 3 rup   c. 1> 2 kl;Lk; rup  
d. 1> 4 kl;Lk; rup   e. tpil njhpatpy;iy 
 

61. Match the following. 
Nuclear Power Station  State 
A. Rawatbhata   1. Karnataka 
B. Narora    2. Gujarat 
C. Kaiga    3. Uttarpradesh 
D. Kakrapara    4. Maharashtra 
E. Tarapur    5. Rajasthan 
 A B C D E 
a. 5 3 1 4 2 
b. 4 2 5 3 1 
c. 3 5 1 4 2 
d. 5 3 1 2 4  e. Answer not known 
nghUj;Jf. 
mZkpd; epiyak; khepyk; 
A. ,uhtj; gl;lh   1. fu;ehlfh 
B. eNuhuh    2. F[uhj; 
C. iffh    3. cj;jpug;gpuNjrk; 
D. fhf;ughuh    4. k`huh~;buh 
E. jhuhg;G+u;    5. uh[];jhd; 
 A B C D E 
a. 5 3 1 4 2 
b. 4 2 5 3 1 
c. 3 5 1 4 2 
d. 5 3 1 2 4  e. tpil njhpatpy;iy 
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62. National Hydroelectric power corporation is located at ____. 
a. Haldia   b. Faridabad   c. New Delhi    
d. Vishakapatnam  e. Answer not known 
,e;jpah Njrpa ePu; kpd;rf;jp epWtdk; mike;Js;s ,lk; ____. 
a. `hy;bah   b. /gupjhghj;   c. GJnly;yp    
d. tprhfg;gl;bdk;  e. tpil njhpatpy;iy 

 
63. Which of the following statements is/are correct? 

1. First Jute mill in India was established at Rishra near Kolkata by George Auckland. 
2. India is first in export of jute goods. 
3. Central Silk Technological Research Institute was established in 1983. 
a. 1, 2, 3 b. 1, 2  c. 2, 3  d. 1, 3  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpahtpd; Kjy; rzy; Miy fy;fj;jh mUfpy; up~;uh vd;Dkplj;jpy; [hu;[; 

Mf;yhe;J vd;gtuhy; njhlq;fg;gl;lJ. 
2. ,e;jpah rzy;nghUl;fs; Vw;Wkjpapy; Kjyplk;. 
3. kj;jpa gl;L tsu;g;G thupak; 1983-,y; epWtg;gl;lJ. 
a. 1, 2, 3 b. 1, 2  c. 2, 3  d. 1, 3  e. tpil njhpatpy;iy 
 

64. Consider the following  
Assertion (A) : Coimbatore is called as ‘Manchester of South India’. 
Reason (R) : Coimbatore is the largest producer of cotton in South India. 
a. Both (A) and (R) are true, and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true, and (R) is not the correct explanation of (A) 
c. (A) is true, but (R) is false. 
d. (A) is false, but (R) is true. 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
$w;W (A) : Nfhak;gj;J}u; njd;dpe;jpahtpd; khd;nr];lu; vd;wiof;fg;gLfpwJ. 
fhuzk; (R) : njd;dpe;jpahtpy; gUj;jp cw;gj;jpapy; Nfhak;gj;J}u; Kjyplk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fky;y. 
c. (A) rhp> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 
65. Consider the following 

Assertion (A) : Chennai is nicknamed as the “Detroit of Asia”. 
Reason (R) : Presence of major automobiles manufacturing units and allied industries 
aroung the Chennai city. 
a. Both (A) and (R) are true, and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true, and (R) is not the correct explanation of (A) 
c. (A) is false, but (R) is true 
d. (A) is true but (R) is false 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : nrd;id Mrpahtpd; nl;lNuha;l; vd;W miof;fg;gLfpwJ. 
fhuzk; (R) : gpujhd thfd njhopw;rhiyfSk; mjid rhu;e;j njhopw;rhiyfSk; 
nrd;idia Rw;wpAs;s gFjpfspy; cs;sd. 
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a. (A) kw;Wk; (R) ,uz;Lk; rup. NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup. NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fky;y. 
c. (A) jtW> Mdhy; (R) rup 
d. (A) rup> Mdhy; (R) jtW 
e. tpil njhpatpy;iy 
 

66. Which of the following statemets is/are correct? 
1. National Newesprint and papermills (NEPA) is at Allahabad district of Uttarpradesh. 
2. The first paper mill of India was started in 1812 at Serampore. 
3. In 1907, Tata Iron and Steel Company was established at Jamshedpur. 
4. The premier automobiles ltd was the first automobile industry of India established in 
1947 at Kurla (Mumbai) 
5. Make in India program was launched in 2015. 
a. 2, 3, 4, 5   b. 2, 3, 4   c. 1, 3, 5   
d. All the above  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. Njrpa nra;jpfs; kw;Wk; fhfpj Miyfs; (NEPA) cj;jpug;gpuNjrj;jpYs;s 

myfhghj;jpy; mike;Js;sJ. 
2. ,e;jpahtpd; Kjy; fhfpj njhopw;rhiy 1812-,y; Nkw;Ftq;fj;jpy; cs;s nruhk;G+u; 

vd;Dkplj;jpy; epWtg;gl;lJ. 
3. 1907 ,y;  lhlh ,Uk;G kw;Wk; v/F njhopw;rhiy [hk;n~l;G+upy; njhlq;fg;gl;lJ. 
4. ,e;jpahtpd; Kjy; thfdj; njhopyfk; Kk;ig mUfpy; Fu;yh vd;Dkplj;jpy; 1947-,y; 

gpuPkpau; thfd epWtdk; vd;w ngaupy; njhlq;fg;gl;lJ. 
5. ,e;jpahtpy; cUthf;FNthk; jpl;lk; 2015-,y; njhlq;fg;gl;lJ. 
a. 2, 3, 4, 5    b. 2, 3, 4   c. 1, 3, 5   
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

67. Which of the following statements is/are correct? 
1. Demography is the study of population. 
2. India covers 2.2% of the land area of the world. 
3. India comprises 17.5% of the world’s population 
4. One out of every five persons in the world is from India. 
a. 1, 3  b. 2, 3  c. 1, 2   d. 2, 4  e. Answer not known 
gpd;tUk; $w;wfspy; vit rupahdit? 
1. nlkhf;uhgp vd;gJ kf;fs;njhifiag; gw;wp fw;wy;. 
2. cyfpd; nkhj;j epyg;gug;gpy; ,e;jpah 2.2% nfhz;Ls;sJ. 
3. ,e;jpah cyf kf;fs; njhifapy; Rkhu; 17.5% cs;slf;fpAs;sJ. 
4. cyfpy; cs;s Ie;J egu;fspy; xUtu; ,e;jpauhf cs;shu;. 
a. 1, 3  b. 2, 3  c. 1, 2   d. 2, 4  e. tpil njhpatpy;iy 
 

68. Which of the following statements is/are correct? 
1. First census of India was conducted in 1871. 
2. First complete and synchronous census of India was conducted in 1882. 
3. 2001 was the Fourteenth census of India. 
4. Goa is the least populous state of India. 
5. Bihar is the most densely populated state of India 
6. Andaman and Nicobar Islands have the lowest density of population in the Union 

territories. 
a. 1, 2, 4, 6   b. 3, 5, 6   c. 1, 2, 3, 5  
d. All of these  e. Answer not known 
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gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpahtpd; Kjy; kf;fs; njhif fzf;nfLg;G 1871-,y; Nkw;nfhs;sg;gl;lJ. 
2. KOikahd Kjy; kf;fs;njhif fzf;nfLg;G  1882-,y; Nkw;nfhs;sg;gl;lJ. 
3. 2001 ,y; gjpdhd;fhtJ kf;fs;njhif fzf;nfLg;G elj;jg;gl;lJ. 
4. Nfhth ,e;jpahtpy; kpf Fiwe;j kf;fs;njhif nfhz;l khepyk;. 
5. gPfhu; ,e;jpahtpy; kpf mjpf kf;fslu;j;jp nfhz;l khepyk;. 
6. A+dpad; gpuNjrq;fspy; me;jkhd; kw;Wk; epf;Nfhghu; kpf Fiwe;j kf;fslu;j;jp 

nfhz;lit. 
a. 1, 2, 4, 6   b. 3, 5, 6   c. 1, 2, 3, 5   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

69. Which of the following statements about Grand Trunk Road is/are correct? 
1. This was built by Shershaha Suri. 
2. It connects Kolkata to Peshwar. 
3. Bifurcated into two segments, NH-1 from Delhi to Kolkata and NH-2 from Delhi 

to Amritsar. 
a. 1, 2, 3 are correct  b. 1, 2 are correct   c. 1, 3 are correct  
d. only 2 is correct  e. Answer not known 
fpuhz;l; l;uq;f;rhiy gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,J n~u;rh #up fhyj;jpy; fl;lg;gl;lJ. 
2. fy;fj;jhitAk; ng~htiuAk; ,izf;fpwJ. 
3. ,uz;L gpupTfshf gpupf;fg;gl;Ls;sJ> NH1 nly;ypapypUe;J fy;fj;jhtiuAk; NH2 
nly;ypapypUe;J mkpu;jru]; tiuAk; cs;sJ. 
a. 1>2>3 rup   b. 1> 2 rup   c. 1>3 rup   
d. 2 kl;Lk; rup  e. tpil njhpatpy;iy  
 

70. Consider the following statements 
1. Road density is highest in Kerala and lowest in Jammu and Kashmir. 
2. Road Transport is the main artery of India’s Inland Transport. 
3. Railways are considered as the backbone of the surface transport system of India. 
a. 1,2,3 are correct  b. 1,2 are correct  c. Only 2 is incorrect   
d. Only 3 is incorrect e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. Nfushtpy; rhiyfspd; mlu;j;jp kpff; mjpfkhfTk; [k;K-fh~;kPupy; kpff; 

FiwthfTk; cs;sJ. 
2. rhiy top ehl;bDila cs;ehl;L Nghf;Ftuj;jpd; Kf;fpa capu;ehbahf jpfo;fpwJ. 
3. ,uapy; Nghf;Ftuj;J ,e;jpa jiutopg; Nghf;Ftuj;J mikg;gpd; KJnfYk;ghff; 

fUjg;gLfpwJ. 
a. 1> 2> 3 rup   b. 1>2 rup   c. 2 kl;Lk; jtW   
d. 3 kl;Lk; jtW  e. tpil njhpatpy;iy 
 

71. Match the following 
Category    Width of track (in metre) 
A. Meter gauge   1. 1.000 
B. Broad guage   2. 1.676 
C. Narrow guage   3. 0.610 
D. Light guage   4. 0.762 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 
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nghUj;Jf 
tiffs;    mfyk; (kPl;lupy;) 
A. kPl;lu; ghij   1. 1.000 
B. mfyg;ghij   2. 1.676 
C. FWfpa ghij   3. 0.610 
D. FWfpa J}f;Fg;ghij  4. 0.762 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
   

72. Match the following  
Railway Zone    Headquarter 
A. Eastern Railway    1. Hazipur 
B. East Coast Railway   2. Kolkata 
C. Central Railway    3. Mumbai 
D. East-Central Railway   4. Bhubaneswar 
 A B C D 
a. 2 1 3 4 
b. 2 3 4 1 
c. 2 4 3 1 
d. 2 4 1 3 
e. Answer not known 
nghUj;Jf 
kz;lyk;     jiyikaplk; 
A. fpof;F ,uapy;Nt   1. `rpg;G+u; 
B. fpof;F flw;fiu ,uapy;Nt  2. fy;fj;jh 
C. kj;jpa ,uapy;Nt    3. Kk;ig 
D. fpof;F kj;jpa ,uapy;Nt  4. GtNd];tu; 

 A B C D 
a. 2 1 3 4 
b. 2 3 4 1 
c. 2 4 3 1 
d. 2 4 1 3 
e. tpil njhpatpy;iy 
 

73. Which of the following statements is/are correct? 
1. Chennai is the 6th Indian city with metro railway. 
2. Shatabdi express is the fastest operational train in India. This train connects NewDelhi 
and Agra. 
a. Both 1,2 are correct  b. Only 1 is correct    c. Only 2 is correct  
d. Both 1,2 are incorrect  e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
1. nrd;id efuk; nkl;Nuh ,uapy; Nrit nfhz;l MwhtJ efuk;. 
2. rjhg;jp mjptpiuT tz;b ,e;jpahtpd; kpf mjpfNtf ,uapy;tz;b. ,J nly;ypiaAk; 
Mf;uhitAk; ,izf;fpwJ. 
a. 1> 2 Mfpa ,uz;LNk rup b. 1 kl;Lk; rup   c. 2 kl;Lk; rup  
d. 1> 2 Mfpa ,uz;LNk jtW e. tpil njhpatpy;iy  
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74. Which of the following statements is/are correct? 
1. Konkan Railway connect Roha in Maharashtra to Mangaluru in Karnataka. 
2. It covers distance of 760 km. 
3. Konkan Railways otherwise called as engineering marvel. 
4. Asia’s longest tunnel is in the route of Konkan Railway. 
a. 1, 2,3 ,4   b. 1, 2, 3 c. 1, 2  d. 3, 4  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. nfhq;fs; ,uapy;Nt k`huh~;buhtpYs;s NuhfhitAk; fu;ehlfj;jpYs;s kq;f@iuAk; 

,izf;fpwJ. 
2. ,J 760 fp.kP. ePsk; nfhz;lJ. 
3. nfhq;fd; ,uapy;Nt nghwpapay; Jiwapd; mjprak; vd;W miof;fg;gLfpwJ. 
4. Mrpahtpd; kpf ePskhd Ruq;fg;ghij ,t;topapy; mike;Js;sJ. 
a. 1> 2> 3> 4   b. 1> 2> 3 c. 1> 2  d. 3> 4  e. tpil njhpatpy;iy 
 

75. Match the following 
National Waterways Place 
A. NW1   1. Sadiya to Dhubri 
B. NW2   2. Allahabad to Haldia 
C. NW3   3. Talcher to Dharma 
D. NW5   4. Kollam to Kottapuram 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf 
Njrpa ePu;top   ,lk; 
A. NW1   1. rhbahtpypUe;J Jg;uptiu 
B. NW2   2. myfhghj;jpypUe;J `hy;jpah 
C. NW3   3. jhy;rupapypUe;J jhk;uh 
D. NW5   4. nfhy;ykpypUe;J Nfhl;lGuk; 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

76. Match the following 
International Airport   Location 
A. Indira Gandhi    1. Kolkata 
B. Netaji Subhash ChandraBose  2. Hyderabad 
C. Rajiv Gandhi    3. Ahamadabad 
D. Sardar Vallabhai Patel   4. Delhi 
 A B C D 
a. 1 2 3 4 
b.  2 3 1 4 
c. 3 1 4 2 
d. 4 1 2 3 
e. Answer not known 
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nghUj;Jf. 
ru;tNjr tpkhd epiyak;   ,lk; 
A. ,e;jpuhfhe;jp    1. fy;fj;jh 
B. Nejh[p Rgh~; re;jpuNgh];  2. i`juhghj; 
C. uh[Pt; fhe;jp    3. mfkjhghj; 
D. ru;jhu; ty;ygha; gNly;   4. nly;yp 
 A B C D 
a. 1 2 3 4 
b.  2 3 1 4 
c. 3 1 4 2 
d. 4 1 2 3 
e. tpil njhpatpy;iy 
 

77. Consider the following 
I. Pavan Hans provides Helicopter support services to the petroleum sector, 

including ONGC and Oil India Ltd. 
II. Pavan Hans is a Nava Ratna – I category public sector undertaking. 

III. Headquarter of Pavan Hans Helicopter Ltd is located at Delhi. 
a. I and II are correct  b. II, III are correct   c. I, III are correct  
d. I, II are incorrect   e. Answer not known 
gpd;tUtdtw;iw Ma;f 
I. gtd; `hd;]; epWtdk; ngl;Nuhypa epWtdkhd ONGC vz;nza; kw;Wk; 

,aw;if vhpthA Nghd;wtw;wpw;F n`ypfhg;lu; Nritia mspf;fpwJ. 
II. ,J etuj;dh – I jFjpnfhz;l nghJj;Jiw epWtdkhFk;. 
III. ,jd; jiyikaplk; nly;yp  
a. I, II rhp    b. II, III rup    c. I, III rup  
d. I, II jtW    e. tpil njhpatpy;iy 
 

78. Consider the following statement 
1. In 2007 the Government merged the Air India and Indian Airlines under National 

Aviation Corporation of India Limited (NACIL). 
2. NACIL (A) provides domestic services. 
3. NACIL (I) provides international services 

a. 1, 2, 3 are correct   b. 2, 3 are correct  c. only 1 is correct   
d. only 3 is correct   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. 2007 Mk; Mz;L Vu; ,e;jpah kw;Wk; ,e;jpad; Vu;iyd;]; epWtdq;fs; ,e;jpa Njrpa 

tpkhdk; Nghf;Ftuj;J fofj;jpd; (NACIL) fPo; xUq;fpizf;fg;gl;lJ. 
2. NACIL (A) cs;ehl;L tpkhd Nritia mspf;fpwJ. 
3. NACIL (I) ru;tNjr tpkhd Nritia mspf;fpd;wJ. 
a. 1> 2> 3 rup    b. 2> 3 rup   c. 1 kl;Lk; rup  
d. 3 kl;Lk; rup   e. tpil njhpatpy;iy 

 
79. Pedosphere is a part of the 

a. Atmosphere  b. Hydrosphere  c. Lithosphere   
d. Biosphere 
ngNlh];gpah; vd;gJ gpd;tUk; ve;j gFjpapYs;sJ?  
a. tspkz;lyk;  b. ePh; Nfhsk;   c. epyf;Nfhsk;   
d. caph;Nfhsk;   e. tpil njhpatpy;iy 
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80. Find the incorrect statement. 
a. All terrestrial planets have lithosphere. 
b. The lithospheres of mercury, venus and mars are much thicker than the earth. 
c. The continental crust is thicker than oceanic crust 
d. Crust is the largest layer of the earth’s interior 
e. Answer not known 
gpd;tUk; $w;Wfspd; jtwhdtw;iw fz;Lgpb.  
a. midj;J Gtpepfh; Nfhs;fSk; ghiwf; Nfhsj;ij nfhz;Ls;sd.  
b. Gjd;> nts;sp kw;Wk; nrt;tha; Nfhs;fspd; ghiwNfhsk; G+kpia tpl jbkdhdJ 
c. Gtp NkNyhL flyb NkNyhl;bidtpl jbkdhdJ  
d. NkNyhL Gtpapd; cs;sLf;Ffspy; jbkdhdJ  
e. tpil njhpatpy;iy 
 

81. Find the incorrect pair 
a. Upper Crust - SIAL 
b. Lower Crust - SIMA 
c. Core  - NIFE 
d. Mantle  - SIMA 
e. Answer not known 
jtwhd ,iziaf; fz;Lgpb. 
a. Nky;NkNyhL  - rpahy;  
b. fPo; NkNyhL – rpkh  
c. fUtk; - ie/g;  
d. ftrk; - rpkh  
e. tpil njhpatpy;iy 
 

82. Which among the following types of rock is referred as Primary (or) Mother rocks? 
a. Igneous rocks   b. Sedimentary rocks  c. Gravity rocks  
d. Metamorphic rocks  e. Answer not known 
gpd;tUk; ghiwfspy; Kjy;epiy my;yJ jha;ghiw vJ? 
a. jPg;ghiwfs;   b. gbTg;ghiwfs;   c. Gtp<h;g;G ghiwfs;  
d. cUkhwpa ghiwfs;   e. tpil njhpatpy;iy  
 

83. Find the incorrect statements 
a. Granite, Basalts and Gypsum – Igneous rocks 
b. Limestone, Coal and Sandstone – Sedimentary rocks 
c. Diamond, marble and clay – metamorphic rocks. 
d. Quartzite, Gneiss, Schist – Igneous rocks 
e. Answer not known 
jtwhd ,iziaf; fz;Lgpb.  
a. fpuhidl;> grhy;l; kw;Wk; [pg;rk; - jPg;ghiwfs;  
b. Rz;zhk;G> epyf;fhp kw;Wk; ghiwf;fy; - gbTg;ghiw  

c. ilkd;l;> gspq;Ffy kw;Wk; fspkz; - cUkhwpag;ghiw  
d. Fthh;l;irl;> eP];> kw;Wk; rp];l; - jPg;ghiwfs;  
e. tpil njhpatpy;iy 
 

84. Find the correct pair 
a. Convergent Boundary – Subduction zone 
b. Divergent Boundary – Magma emerges 
c. Transform Boundary – Plates slides horizontally 
d. All of the above 
e. Answer not known 
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rhpahd ,iziaf; fz;Lgpb.  
a. FtpAk; vy;iy – mkpo;jy; epfo;jy;  
b. tphpAk; vy;iy – khf;kh ntspNaWjy;  
c. gf;fthl;L vy;iy – jl;Lf;fs; xd;Wf;nfhd;W fpilahf efh;jy;  
d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy 

 
85. Consider the following statements. 

1. Richter scale – Magnitude of the earthquake 
2. Richter scale was advised by C.F. Richter 
3. Richter scale is an open ended scale 
4. The highest ever recorded magnitude is 9.5 on Richter scale 
a. 1, 2, 3 are correct   b. 2 and 4 are correct  c. 1, 3, 4 are correct  
d. all are correct   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f.  
1. hpf;lh; msT Nfhy; - Gtp mjph;tpd; jPtpuj;ij mstpl  
2. hpf;lh; msitia fz;Lgpbj;jth; C.F. hpf;lh;  
3. ,e;j msitf;F vy;iy tiuaiw ,y;iy  
4. hpf;lh; mstpy; kpf mjpfkhf gjpthd msT 9.5 MFk;.  
a. 1, 2, 3, rhp     b. 2 kw;Wk; 4 rhp   c. 1, 3, 4 rhp    
d. midj;Jk; rhp    e. tpil njhpatpy;iy 
 

86. Match the following 
A. Active Volcano   1. Paricutin, Mexico 
B. Dormant Volcano  2. Mt. Fuji, Japan 
C. Extinct and Dead Volcano 3. Mt. Kilimanjaro, Tanzania 
D. Volcanic Dome   4. Mt. St. Helens, U.S.A 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3  
c. 4 3 2 1 
d. 4 2 3 1 
e. Answer not known 
nghUj;Jf:  
A. nray;gLk; vhpkiy  1. ghpFl;bd;> nkf;]pNfh 
B. jzpe;j vhpkiy   2. gp[pkiy> [g;ghd;  
C. ,we;j vhpkiy    3. fpspkQ;rNuh kiy> jd;rhdpah  
D. Fk;kl;l vhpkiy   4. nrapd;l; n`yd; kiy> mnkhpf;fh 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3  
c. 4 3 2 1 
d. 4 2 3 1 
e. tpil njhpatpy;iy 
 

87. Which among the following land features is not carved by a river in the upper course? 
a. V – shaped valleys  b. gorges   c. Oxbow – lake   
d. pot holes    e. Answer not known 
gpd;tUk; ve;j epyj;Njhw;wk; MWfspd; ,sepiyapy; cUthf;fg;gLtJ ,y;iy?  
a. V – tbt gs;sjhf;F   b. kiyapLf;Ffs;   c. FUl;L MWfs;    
d. Flf; Fopfs;    e. tpil njhpatpy;iy 
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88. Karst Topography is formed by 
a. Tides   b. Groundwater  c. Glacier   
d. Wind   e. Answer not known 
Rz;zhk;G gpuNjr epyj;Njhw;wq;fs; Njhw;Wtpf;fg;gLtJ? 
a. Xjq;fshy;   b. epyj;jb ePhpdhy;   c. gdpg;ghiwfshy;   
d. fhw;wpdhy;   e. tpil njhpatpy;iy 
 

89. Which is Aeolian Process? 
a. The erosional, transportational and depositional activities of wind. 
b. The erosional, transportational and depositional process of glacier. 
c. The erosional, transportational and depositional process of river. 
d. All of the above. 
e. Answer not known 
VNahypad; nray;ghL vd;gJ  
a. fhw;wpd; flj;jy;> mhpj;jy; kw;Wk; gbaitj;jy; nray;  
b. gdpg;ghiwapd; flj;jy;> mhpj;jy; kw;Wk; gbaitj;jy;  
c. MWfspd; flj;jy;> mhpj;jy; kw;Wk; gbaitj;jy; nray;  
d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy 
 

90. Match the followings.  
A. Barchan    1. Crescent shape 
B. Transverse Dune   2. Asymmetrical shape 
C. Longitudinal Dune  3. Long narrow ridge 
D. Loess    4. Deposits of fine silt 
 A B C D 
a. 2 3 1 4 
b. 2 3 4 1 
c. 1 2 3 4 
d. 1 3 2 4 
e. Answer not known 
nghUj;Jf:  
A. gh;fhd;     1. gpiwtbtk;  
B. FWf;F kzy; NkL  2. rkr;rPuw;w tbtk;  
C. ePz;l kzy; NkL   3. FWfpa kzw;njhlh;  
D. fhw;wb tz;ly;   4. nkd;ikahd gbTfs;  
 A B C D 
a. 2 3 1 4  
b. 2 3 4 1 
c. 1 2 3 4 
d. 1 3 2 4  
e. tpil njhpatpy;iy 
 

91. Match the followings 
A. Cirque   1. Bowl-shaped arm-chair 
B. Arete   2. Pyramidal peaks 
C. Matterhorn  3. Formed along river valley 

 D. U-shaped valley  4. Narrow Ridges 
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  A B C D 
a. 1 4 2 3 
b. 1 2 4 2 
c. 2 4 1 3 
d. 3 1 2 4 
e. Answer not known 
nghUj;J 
A. ru;f;     1. ehw;fhyp Nghd;w tbtk;  
B. mnul;L    2. gpukpL rpfuk;  
C. Nkl;lh; `hh;d;   3. Mw;Wg;gs;sjhf;F  
D. U – tbt gs;sj;jhf;F  4. FWfpa rpfuk;  
 A B C D 
a. 1 4 2 3  
b. 1 2 4 3 
c.  2 4 1 3  
d. 3 1 2 4  
e. tpil njhpatpy;iy 
 

92. Where is the Magnetosphere? 
a. in the troposphere b. Beyond the exosphere 
c. In the Ionosphere  d. In between Ionosphere and Mesosphere 
e. Answer not known 
Nkf;dl;Nlh];gpah; vq;F mike;Js;sJ?  
a. mbaLf;fpy;  b. ntspaLf;Ff;F mg;ghy;  
c. madkz;lyj;jpy;  d. maNdh];gpah; kw;Wk; kPN]h];gpah;f;F ,ilapy;  
e. tpil njhpatpy;iy 
 

93. Which layer of the atmosphere is known as “Weather layer”? 
a. Troposphere  b. Stratosphere  c. Mesosphere   
d. Ionosphere  e. Answer not known 
thdpiy mLf;F vd;W miof;fg;gLk; tspkz;ly mLf;F vJ? 
a. mbaLf;F   b. gilaLf;F   c. kPNrh mLf;F    
d. madpaLf;F   e. tpil njhpatpy;iy 
  

94. Find the incorrect statements 
a. Heat received from the sun is insolation. 
b. Outgoing heat from the sun to space is Terrestrial radiation. 
c. Solar energy reflected from the earth is Albedo effect. 
d. None the above  
e. Answer not known 
jtwhd $w;iw fz;Lgpb.  
a. #hpadpypUe;J Gtpia te;jilAk; fjph;fs; #hpa fjph;tPr;R  
b. GtpapypUe;J tpd;ntspf;F nry;Yk; fjph;fs;> Gtp fjph;tPr;R  
c. Gtpapdhy; vjpnuhspf;fg;gLk; #hpa fjph;tPr;R my;gpNlh jd;ik MFk;  
d. Nkw;fz;l vJTkpy;iy 
e. tpil njhpatpy;iy 

 
95. Find the correct statement. 

1. Coriolise force is caused by rotation of the earth. 
2.Coriolise force was discovered by G.G. Coriolis. 
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a. 1 only   b. Both 1 and 2  c. 2 only  
d. None of the above e. Answer not known 
jtwhd ,izia fz;Lgpb.  
1. nfhhpahyp]; tpir Gtpapd; Row;rpapdhy; cUthf;fg;gLfpwJ.  
2. nfhhpahyp]; tpiria fz;lwpe;jth; G.G nfhhpahyp];  
a. 1 kl;Lk;    b. ,uz;Lk;   c. 2 kl;Lk;  
d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 
 

96. Find the incorrect pair. 
a. Cirro – Cumulus - Higher cloud 
b. Alto – Cumulus - Middle cloud 
c. Nimbo – Stratus - Vertical cloud 
d. Strato – Cumulus - Lower cloud 
e. Answer not known 
jtwhd ,iziaf; fz;Lgpb.  
a. rph;Nuh – FKy]; - cah; Nkfk;  
b. My;Nlh – FKy]; - eLj;ju Nkfk;  
c. epg;Ngh - ];l;Nul;l]; - nrq;Fj;J Nkfk;  
d. ];Nul;Nlh – FKy]; - jho; Nkfk;  
e. tpil njhpatpy;iy 
 

97. Match the following 
Tropical Cyclones  Regions 
A. Willy Willy  1. Western Pacific 
B. Hurricanes  2. Philippines 
C. Baguious   3. Atlantic 
D. Typhoons   4. Australia 
 A B C D 
a. 2 1 4 3  
b. 1 2 3 4 
c. 4 3 2 1  
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf:  
A. tpy;tp tpy;yp  1. Nkw;F gRgpf;  
B. `hpf;Nfhd;];  2. gpypg;igd;]; 
C. Ng[pa];    3. ml;yhz;bf;  
D. il/G+d;   4. M];jpNuypah  
 A B C D 
a. 2 1 4 3  
b. 1 2 3 4 
c. 4 3 2 1  
d. 4 3 1 2 
e. tpil njhpatpy;iy 

 

98. Choose the correct statements 
1. The Universe was formed after Big Bang explosion. 
2. Light year is the unit used to measure the distance between two celestial bodies. 
3. Sun is the centre of the solar system. 
4. The word planet means Wanderer. 

a. 1, 2, 3 b. 1, 2, 4 c. 2, 3, 4 d. All the above e. Answer not known 
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rhpahd $w;Wfis Njh;f 
1. Nguz;lk; cUthff; fhuzkhd epfo;T ngUk; ntbg;G. 
2. ,U thd;nghUl;fSf;F ,ilapyhd njhiyit msf;f cjTk; msT xsp Mz;L 

MFk;. 
3. #upaf; FLk;gj;jpd; ikak; #hpad;. 
4. Nfhs; vd;w thu;j;ijapd; nghUs; Rw;wp tUgth;. 
a. 1, 2, 3 b. 1, 2, 4 c. 2, 3, 4 d. ,it midj;Jk;    e. tpil njhpatpy;iy 
 

99. Choose the correct statements  
1. Earth is inclined by 23 ½° degrees. 
2. The Equator faces the Sun directly on March 21 and September 23. 
3. The line which divides day and night on the Earth’s surface is the Terminator Line. 
a. 1, 2  b. 1, 3  c. 2, 3  d. All of these e. Answer not known 
rhpahd $w;Wfis Njh;f 
1. Gtpapd; 23 ½° Nfhzj;jpy; mike;Js;sJ 
2. epyeLf;NfhL #upaid Neuhfr; re;jpf;Fk; ehl;fs; khh;r; 21 kw;Wk; nrg;lk;gh; 23. 
3. Gtpapd; Nkw;gug;gpd; kPJ xspgLk; gFjpiaAk;> xspglhj gFjpiaAk; gpupf;Fk; 

Nfhl;bw;F xsph;T tl;lk; vd;W ngau;. 
a. 1, 2  b. 1, 3  c. 2, 3  d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

100. Match the following 
A. Hottest Planet   1. Mars 
B. Ringed Planet   2. Neptune 
C. Red Planet   3. Venus 
D. Somersaulting Planet  4. Saturn     
E. Coldest Planet   5. Uranus 
  A B C D E 
a. 1 2 3 4 5 
b. 2 4 5 3 1 
c. 3 4 1 5 2 
d. 4 5 1 2 3 
e. Answer not known 
nghUj;Jf: 
A. ntg;ghd Nfhs;   1. nrt;tha; 
B. tisak; cs;s Nfhs;  2. neg;ba+d; 
C. nre;epwf; Nfhs;   3. nts;sp 
D. cUSk; Nfhs;   4. rdp 
E. Fspu;e;j Nfhs;   5. ANud]; 

 A B C D E 
a. 1 2 3 4 5 
b. 2 4 5 3 1 
c. 3 4 1 5 2 
d. 4 5 1 2 3 

 e. tpil njhpatpy;iy 
 

101. Consider the following statements 
I. Earth is called a watery planet. 

II. The rotation of the Earth causes seasons. 
 a. I is true; II is wrong   b. I is wrong; II is true 
 c. Both the statements are true  d. Statements I and II are wrong. 

e. Answer not known 
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 gpd;tUk; $w;Wfis Ma;f 
I. Gtp> ePu;f;Nfhsk; vd miof;fg;gLfpwJ. 
II. Gtp jd; mr;rpy; RoYtjhy; gUt fhyq;fs; Vw;gLfpd;wd. 
a. $w;W I rup> $w;W  II jtW 
b. $w;W I jtW> $w;W II rup 
c. ,uz;L $w;WfSk; rup 
d. ,uz;L $w;WfSk; jtW 
e. tpil njhpatpy;iy 

 
102. Match the following 

A      B 
 A. The South Sandwich Trench  1. The Atlantic Ocean 

B. The Milwaukee Trench   2. The Southern Ocean 
C. The Mariana Trench   3. The Indian Ocean 
D. The Eurasian basin   4. The Pacific Ocean 
E. The Java Trench    5. The Arctic Ocean 
 A B C D E 
a. 2 1 5 4 3 
b.  2 1 4 5 3 
c. 1 2 3 4 5 
d. 5 4 3 2 1 
e. Answer not known 
nghUj;Jf 
A. njd;rhd;l;tpr; mfop   1. ml;yhz;bf; ngUq;fly; 
B. kpy;thf;fp mfop    2. njd; ngUq;fly; 
C. kupahdh mfop    3. ,e;jpag; ngUq;fly; 
D. ANu~pad; gLif    4. grpgpf; ngUq;fly; 
E. [hth mfop    5. Mu;f;bf; ngUq;fly; 

 A B C D E 
a. 2 1 5 4 3 
b.  2 1 4 5 3 
c. 1 2 3 4 5 
d. 5 4 3 2 1 
e. tpil njhpatpy;iy 
 

103. Statement: Solar energy is the best substitute for thermal energy in tropical regions.  
Inference 1 : Coal and petroleum resources are receding.  
Inference 2 : Solar energy will never deplete.  
Choose the correct answer 
a. Only conclusion 1 follows.  b. Only conclusion 2 follows.  
c. Neither 1 nor 2 follows.   d. Both 1 and 2 follow.  
e. Answer not known 
thf;fpak; : ntg;gkz;lyg; gFjpfspy; mdy; kpd;dhw;wYf;Fg; gjpyhf #hpa xsp 
Mw;wy; xU rpwe;j khw;W MFk;.  
Ghpjy; 1 : epyf;fhpAk; ngl;NuhypaKk; Fiwe;J nfhz;Nl tUfpwJ.  
Ghpjy; 2 : #hpa Mw;wy; vd;Wk; FiwahJ.   
rhpahd tpiliaj; Njh;e;njL. 
a. Ghpjy; 1 kl;Lk; rhp   b. Ghpjy; 2 kl;Lk; rhp 
c. Ghpjy; 1 kw;Wk; 2 jtW  d. Ghpjy; 1 kw;Wk; 2 rhp  
e. tpil njhpatpy;iy 
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104. Choose the correct statements 
1. The wettest place in the world is Mawsynram 
2. Europe connected with south and south east Asia by Suez sea route.  

a. 1 only   b. 2 only   c. Both 1 and 2 
d. None of these  e. Answer not known 
rhpahd $w;Wfis fz;lwpf 
1. cyfpd; kpf <ug;gjkhd ,lk; nksrpd;uhk; 
2. INuhg;ghitAk;> njw;F kw;Wk; njd;fpof;F MrpahitAk; ,izf;Fk; fly;top #a]; 

fhy;tha;.  
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2  
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

105. Consider the following  
Assertion (A): Italy has dry summers and rainy winters  
Reason (R):  It is located in the Mediterranean region  
a. Both A and R are individually true and R is the correct explanation for A  
b. Both A and R are individually true but R is not the correct explanation for  A  
c. A is true, but R is false  
d. A is false, but R is true 
e. Answer not known 

  gpd;tUtdtw;iw Ma;f 
$w;W (A) : ,j;jhyp> twz;l Nfhil fhyj;ijAk;> Fsph;fhy kioiaAk; ngw;Ws;sJ.  

  fhuzk; (R) : ,J kj;jpa jiuf;fly; gFjpapy; mike;Js;sJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fk; MFk;.  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fky;y.  
c. (A) rhp> Mdhy; (R) jtW  
d. (A) jtW> Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
106. Choose the correct statements 

1. The line of latitude which is known as the Great Circle is Equator.  
2. The imaginary lines drawn horizontally on Earth from the West to East are called 

Latitudes.  
3. The world is divided into 24 time zones.  

a. 1, 2  b. 1, 3  c. 2, 3  d. All of these e. Answer not known 
rhpahd $w;Wfis Njh;f 
1. ngUtl;lk; vd miof;fg;gLk; ml;rf;NfhL epyeLf;NfhL.  
2. Gtpapd; kPJ fpof;F Nkw;fhf> fpilkl;lkhf tiuag;gl;Ls;s NfhLfs; ml;rf;NfhLfs;.  
3. cyfpd; Neu kz;lyq;fspd; vz;zpf;if 24.  
a. 1, 2  b. 1, 3  c. 2, 3  d. ,it midj;Jk;    e. tpil njhpatpy;iy 
 

107. The total number of lines of latitude are  
a. 171   b. 161   c. 181   d. 180  e. Answer not known 
ml;rf;NfhLfspd; nkhj;j vz;zpf;if  
a. 171   b. 161   c. 181   d. 180  e. tpil njhpatpy;iy 
 

108. Match the following. 
A. 0o line of latitude    1. Pole  
B. 0o line of longitude    2. International Date  
C. 180oline of longitude   3. Greenwich  
D. 900line of longitude   4. Equator  
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 A B C D 
a. 4 3 2 1 
b. 3 4 2 1 
c. 1 2 3 4 
d. 4 1 2 3 
e. Answer not known 
nghUj;Jf: 
A. 0o ml;rf;NfhL     1. JUtk;  
B. 0o jPh;f;ff;NfhL     2. gd;dhl;L Njjpf;NfhL 
C. 180o jPh;f;ff;NfhL    3. fphPd;tpr;  
D. 90o ml;rf;NfhL     4. epyeLf;NfhL  
 A B C D 
a. 4 3 2 1 
b. 3 4 2 1 
c. 1 2 3 4 
d. 4 1 2 3 
e. tpil njhpatpy;iy 

 
109. Consider the following 

I. The lines of latitude on Earth are used to find the location of a place and define the 
heat zones on Earth.  

II. The lines of longitudes on Earth are used to find the location of a place and to 
calculate time.  

a. I is correct; II is wrong   b. I is wrong; II correct   c. Both are correct   
d. Both are wrong   e. Answer not known 
nfhLf;fg;gl;l $w;Wfis Muha;f.  
I. Gtpapy;> ml;rf;NfhLfs; xU ,lj;jpd; miktplj;ijf; fz;lwpaTk;> ntg;g 

kz;lyq;fisf; fzf;fplTk; gad;gLfpd;wd.  
II. Gtpapy; jPh;f;ff;NfhLfs;> xU ,lj;jpd; miktplj;ijf; fz;lwpaTk;> Neuj;ijf; 

fzf;fplTk; gad;gLfpd;wd.  
a. I rhp> II jtW    b. I jtW> II rhp   c. ,uz;L $w;WfSk; rhp   
d. ,uz;L $w;WfSk; jtW  e. tpil njhpatpy;iy 
 

110. The narrow pipe through which magma flow out is called a _________. 
a. Vent    b. Crater   c. Focus    
d. Caldera   e. Answer not known 
ghiwf; Fok;G ntspNaWk; FWfyhd Fohia _____ vd;W miof;fpNwhk;.  
a. vhpkiyj;Jis   b. vhpkiyg; gs;sk;   c. epyeLf;f ikak;   
d. vhpkiy tha;   e. tpil njhpatpy;iy 

 
111. Courtallam falls is located across the _________ river. 

a. Cauvery   b. Pennar   c. Chittar    
d. Vaigai  e. Answer not known 

 Fw;why ePh;tPo;r;rp _______ Mw;Wf;F FWf;fhf mike;Js;sJ. 
 a. fhtphp   b. ngz;zhW   c. rpw;whW    

d. itif   e. tpil njhpatpy;iy 
 
112. The landform created by glacial deposition is 

a. Cirque   b. Arete   c. Moraine    
d. Tarn lake  e. Answer not known 
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 gdpahw;WgbTfshy; Njhw;Wtpf;fg;gLk; epyj;Njhw;wk; _______ MFk;.  
 a. rh;f;   b. mnul;Lfs;   c. nkhiud;fs;   

d. lhh;d; Vhp   e. tpil njhpatpy;iy 
 
113. Consider the following 

Assertion (A): The deltas are formed near the mouth of the river.  
Reason (R): The velocity of the river becomes slow when it approaches the sea. 
a. Both A and R are correct  b. A is correct and R is wrong 
c. A is wrong and R is correct d. Both A and R are wrong 
e. Answer not known 

 gpd;tUtdtw;iw Ma;f 
$w;W (A) : Kfj;Jthug; gFjpapy; MWfshy; nly;lhf;fs; cUthfpd;wd.  
fhuzk; (R) : fly; gFjpia MW milAk; NghJ Mw;wpd; Ntfk; FiwAk;  

 a. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp 
 b. $w;W rhp kw;Wk; fhuzk; jtW  
 c. $w;W jtW kw;Wk; fhuzk; rhp 
 d. $w;W kw;Wk; fhuzk; ,uz;Lk; jtW  

e. tpil njhpatpy;iy 
 
114. Arrange the following in terms of size 1) City 2) Megalopolis 3) Metropolis 4) 

Conurbation  
a. 4, 1, 3, 2   b. 1, 3, 4, 2    c. 2, 1, 3, 4     
d. 3, 1, 2, 4   e. Answer not known 
mstpd; mbg;gilapy; fPo;f;fhZk; efh;g;Gw FapbUg;Gfis thpirg;gLj;Jf.  
a. 4, 1, 3, 2   b. 1, 3, 4, 2    c. 2, 1, 3, 4     
d. 3, 1, 2, 4   e. tpil njhpatpy;iy 

 

115. Match the following  
 A      B 

A. Caucasoid    1. Asian - American 
B. Negroid     2. Australia 
C. Mongoloid    3. European  
D. Australoid    4. African 
 A B C D 
a. 3 4 1 2 
b. 4 3 1 2 
c. 1 2 3 4 
d. 4 1 2 3 
e. Answer not known 
nghUj;Jf:  
A. fhf;frha;L   1. Mrpa mnkhpf;fh;fs;  

B. ePf;uha;L    2. M];jpNuypahh;fs;  
C. kq;fyha;L    3. INuhg;gpah;fs;  
D. M];l;Nuhyha;L   4. Mg;gphpf;fh;fs;  
 A B C D 
a. 3 4 1 2 
b. 4 3 1 2 
c. 1 2 3 4 
d. 4 1 2 3 
e. tpil njhpatpy;iy 
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116. The oldest type of tourism is ______________ 
a. Religious    b. Historical    c. Adventure   
d. Recreational  e. Answer not known 
Rw;Wyh tiffspy; kpfg; goikahdJ _______ 
a. rkar; Rw;Wyh  b. tuyhw;Wr; Rw;Wyh  c. rhfrr; Rw;Wyh   
d. nghOJNghf;Fr; Rw;Wyh e. tpil njhpatpy;iy 

 
117. Choose the odd one out 

a. Corbett  b. Sunbarbans  c. Periyar   
d. Mayani  e. Answer not known 
nghUe;jhj xd;wpidf; fz;lwpf 
a. fhh;ngl;   b. Re;jutdk;   c. nghpahh;    
d. kahdp  e. tpil njhpatpy;iy 

 
118. Consider the following 

Assertion (A): Sudden movement (or) trembling of the earth’s crust is called an 
Earthquake 
Reason (R): Movement of the tectonic plates, surface fault all leads to earthquake 
a. A and R are correct and A explains R Evaluation 
b. A and R are correct but A does not explain R 
c. A is incorrect but R is correct 
d. Both A and R are incorrect 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): jpBh; Efh;T my;yJ G+kpapd; NkNyl;by; Vw;gLk; eLf;fk; Gtp mjph;r;rp MFk;.  
fhuzk; (R): nlf;lhdpf; jl;Lfspd; efh;T> Nkw;gbg;G gpsT Nghd;wit Gtp mjph;r;rpf;F 
tpj;jpLfpd;wd.  
a. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp Mdhy;> fhuzk; $w;wpw;fhd rhpahd tpsf;fk; 

MFk;.  
b. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp Mdhy;> fhuzk; $w;wpw;fhd rhpahd tpsf;fk; 

my;y. 
c. $w;W jtW Mdhy; fhuzk; rhp 
d. $w;W kw;Wk; fhuzk; ,uz;Lk; jtW  
e. tpil njhpatpy;iy 

 
119. World soil day is observed on  

a. 15th August  b. 12th January  c. 15th October   
d. 5th December e. Answer not known 
cyf kz; jpdkhf filgpbf;fg;gLk; ehs;  
a. Mf];L 15  b. [dthp 12   c. mf;Nlhgh; 15  
d. brk;gh; 5  e. tpil njhpatpy;iy 

 
120. The major component of soil is  

a. Rocks   b. Gas    c. Water    
d. Minerals  e. Answer not known 
kz;zpd; Kf;fpa $W  
a. ghiwfs;  b. thAf;fs;   c. ePh;    
d. fdpkq;fs;  e. tpil njhpatpy;iy 
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121. Choose the correct statements 
1. Slate is formed from shale. 
2. Red soil is formed by the process of leaching. 
3. M-sand is used as alternative for natural sand in construction. 
4. Volcanic mountains are covered with sedimentary rocks. 

a. 1, 2  b. 1, 3  c. 2, 3, 4 d. All of these e. Answer not known 
rhpahd $w;Wfis Njh;f 
1. fspkz; ghiwapypUe;J gyiff;fy; (Slate) cUthfpwJ.  
2. nrk;kz; RtUjy; (Leaching) nray;Kiwfspy; cUthfpwJ.  
3. ,aw;if kzYf;F khw;whf fl;Lkhd gzpfSf;F "nraw;if kzy;" (M-Sand) 

gad;gLfpwJ.  
4. gbTg; ghiwfisr; Rw;wp Vhpkiyfs; fhzg;gLfpd;wd.  
a. 1, 2  b. 1, 3  c. 2, 3, 4 d. ,it midj;Jk;    d. tpil njhpatpy;iy 

 
122. Choose the incorrect statement  

1. Soil is the product of weathering of rocks.  
2. Sedimentary rocks are the hardest ones.  
3. Deccan plateau is the region of Igneous rocks. 
a. 1 only b. 2 only c. 3 only d. None of these e. Answer not known 
jtwhd $w;wpidj; Njh;f 
1. ghiwfspdhy; rpijtpd; tpisthf kz; cUthfpwJ 
2. gbTg;ghiwfs; kpfTk; fbdkhdit 
3. jf;fhz gPlg+kp gFjpfs; jPg;ghiwfshy; cUthdit 

a. 1 kl;Lk; b. 2 kl;Lk; c. 3 kl;Lk; d. ,it VJkpy;iy    e. tpil njhpatpy;iy 
 
123. Choose the correct statement  

1. Soil erosion decreases its fertility.  
2. Dynamic metamorphism is caused by high temperature.  
3. Soil is a renewable source.  
4. Humus is a part of the top layer of soil. 
a. 1, 2, 3   b. 1, 3, 4   c. 2, 3, 4  
d. All of these  e. Answer not known 
rhpahd $w;Wfis Njh;f  
1. kz;zhpg;G kz; tsj;ij Fiwf;fpwJ.   
2. ,af;f cUkhw;wk; mjpf ntg;gj;jpdhy; cUthfpwJ. 
3. kz; xU GJg;gpf;f $ba tsk;  
4. ,iykf;Ffs; Nky; kl;l kz;zpd; xU gFjpahFk;  
a. 1, 2, 3   b. 1, 3, 4   c. 2, 3, 4  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

124. Which one of the following represents the places with equal amount of rainfall  
a. isotherm   b. isohel   c. isobar    
d. isohytes  e. Answer not known 
fPo;f;fz;ltw;wpy; vit rk msT kio cs;s ,lq;fis ,izf;Fk; NfhL MFk;.  
a. INrhnjh;k;  b. INrh`Py;   c. INrhghh;   
d. INrh`al; e. tpil njhpatpy;iy 

 

125. Choose the correct statements 
1. The atmosphere is a layer of gases surrounding the planet.  
2. The Scientific study of weather is called Climatology.  
3. Isohel refers equal sunshine. 

a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. Answer not known 
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rhpahd $w;Wfis Njh;f 
1. Gtpiar; Rw;wpAs;s tspkz;lyk; gy;NtW thAf;fshy; Md fyitahFk;.  
2. thdpiy gw;wpa mwptpay; gphptpw;F fhyepiyapay; vd;W ngah;.  
3. rkkhd #hpa ntspr;rk; cs;s gFjpfis ,izf;Fk; Nfhl;bw;F rk #hpa ntspr;rf; 

NfhL vd;W ngah;.  
a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. tpil njhpatpy;iy 
 

126. The percentage of fresh water on the earth is  
a. 2.1%  b. 3.2% c. 2.8% d. 1.6%  e. Answer not known 
Gtpapd; cs;s ed;dPhpd; rjtpfpjk; _________. 
a. 2.1%  b. 3.2% c. 2.8%  d. 1.6%  e. tpil njhpatpy;iy 

 
127. Choose the correct statement 

1. The degree of water vapour present in the atmosphere is known as Humidity.  
2. There are 3 phases in the water cycle.  
3. The precipitation with the rain drop size of less than 0.5mm in diameter is known 

as Drizzle.  
4. Mist is less denser than Fog. 

a. 1, 2, 3 b. 1, 2, 4  c. 2, 3, 4 d. 1, 2, 3, 4 e. Answer not known 
rhpahd $w;Wfis Njh;f 
1. tspkz;lyj;jpy; cs;s ePuhtpapd; msT <ug;gjk; vd;W miof;fg;gLfpwJ.  
2. ePh;r; Row;rpapy; 3 epiyfs; cs;sd.  
3. kioj;Jspapd; msT 0.5 kp.kP Fiwthf ,Ue;jhy;> mk;kio nghoptpd; ngah; J}wy;. 
4. %Lgdp mlu;%Lgdpia I tpl Fiwe;j mlh;j;jp nfhz;lJ 
a. 1, 2, 3 b. 1, 2, 4  c. 2, 3, 4 d. 1, 2, 3, 4 e. tpil njhpatpy;iy 
 

128. Choose the correct statements 
1. Banking is a Tertiary economic activity.  
2. Tertiary activity is divided into Quaternary and Quinary 
3. Government decision making process comes under the Quinary category of 

tertiary economic activity.  
a. 1, 2  b. 1, 3  c. 2, 3  d. All of these e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. tq;fpj; Jiw vd;gJ Kd;whk; epiyj; Jiw nghUshjhu eltbf;ifahFk;.  
2. %d;whk; epiy njhopy;fs; ehd;fhk; epiy nray;ghL kw;Wk; Ie;jhk; epiy nray;ghL 

Mf tifg;gLj;jg;gLfpwJ. 
3. murhq;f KbT vLf;Fk; nray;Kiwfs; Ie;jhk; epiy nray;ghL Jiwapd; fPo;tUk; 

%d;whk; epiy nray;ghlhFk;.  
a. 1, 2  b. 1, 3  c. 2, 3  d. ,it midj;Jk;    e. tpil njhpatpy;iy 
 

129. Choose the correct statement  
1. Mt. Kilimanjaro is the highest peak of Africa.  
2. Eucalyptus is the most common tree in Australia.  

3. A temperate grass land of Australia is called Downs 
4. Dakshin Gangothri is the first Indian research station in Arctic 

a. 1, 2, 3 b. 1, 2, 4 c. 2, 3  d. All of these e. Answer not known 
gpd;tUtdtw;wpy; rhpahd $w;Wfis Ma;f 
1. Mg;gphpf;fhtpd; kpf caukhd rpfuk; fpspkQ;rhNuh MFk;. 
2. M];jpNuypahtpy; mjpfk; fhzg;gLk; kuk; A+f;fypgl;];.  
3. M];jpNuypahtpy; cs;s kpjntg;g kz;ly Gy;ntspfs; lTd;]; vd 

miof;fg;gLfpd;wd.  
4. Mh;f;bf;fpy; epWtg;gl;l Kjy; ,e;jpa Ma;T epiyak; jl;rpd; fq;Nfhj;up 
a. 1, 2, 3 b. 1, 2, 4 c. 2, 3  d. ,it midj;Jk;    e. tpil njhpatpy;iy 
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130. Consider the following Statements 
Assertion (A.:   Aurora is a curtain of colour lights appear in the sky.  
Reason (R): They are caused by magnetic storms in the upper atmosphere. 
a. Both A and R are individually true and R is the correct explanation for A. 
b. Both A and R are individually true but R is not the correct explanation for A 
c. A is true but R is false. 
d. R is true but A is false 
e. Answer not known 
rhpahd $w;iwj; Njh;T nra;aTk;. 
$w;W : mNuhuh vd;gJ thdj;jpy; Njhd;Wk; tz;z xspfs; MFk;.  
fhuzk; : mit tspkz;lyj;jpd; NkyLf;F fhe;j Gayhy; Vw;gLfpd;wd.  
a. $w;W kw;Wk; fhuzk; cz;ik> $w;W fhuzj;jpw;fhd rhpahd tpsf;fk;  
b. $w;W kw;Wk; fhuzk; cz;ik $w;W fhuzj;jpw;fhd rhpahd tpsf;fk; my;y  
c. $w;W cz;ik Mdhy; fhuzk; jtW  
d. fhuzk; cz;ik Mdhy; $w;W jtW  
e. tpil njhpatpy;iy 
 

131. Magma is found in the 
a. crust   b.  mantle   c. core   
d. None of the above e. Answer not known 
ghiwf;Fok;G _________ fhzg;gLfpwJ 
a. GtpNkNyhL  b. ftrk;   c. fUtk;  
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 

 
132. Refers to a bowl-shaped depression found at the top of the volcano. 

a. crater   b. vent   c. chamber   
d. volcanic cone  e. Answer not known 
vhpkiy Nky;gFjpapy; fpz;zk; Nghd;w gs;skhd mikg;gpid ________ vd;W 
miof;fpd;Nwhk;.  
a. vhpkiy tha;   b. Jthuk;    c. ghiwf;Fok;Gj; Njf;fk;   
d. vhpkiyf;$k;G   e. tpil njhpatpy;iy 

 
133. Consider the following   

Assertion (A) : Magma gushes out when it finds vents. 
Reason (R) : Interior of the Earth contains compressed hot magma 
a. A and R are true  b. A is true, R is false  c. A is false R is true  
d. A and R are false  e. Answer not known 

 $w;W (A) : ghiwf;Fok;G Jthuk; topahf ntspNaWk;  
 fhuzk; (R): Gtpapd; cl;gFjp mOj;jg;gl;l ghiwf; Fok;gpidf; nfhz;bUf;Fk;.  
 a. $w;W> fhuzk; ,uz;Lk; rhp  
 b. $w;W rhp> fhuzk; jtW  
 c. $w;W jtW> fhuzk; rhp  
 d. $w;W> fhuzk; ,uz;Lk; jtW  

e. tpil njhpatpy;iy 
 
134. Consider the following Statement  

Statement I : Mountain ranges are formed by the collision of tectonic plates 
Statement II : The movement of tectonic plates is due to the thermal energy from the 

mantle 
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a. Statement I is false II is true  b. Statement I and II are false 
c. Statement I is true II is false  d. Statement I and II are true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W I : Gtpj;jl;Lfs; xd;Nwhnlhd;W NkhJtjhy; kiyj; njhlh;fs; 
Njhw;Wtpf;fg;gLfpd;wd.  

 $w;W II: ftrj;jpd; ntg;gj;jpd; fhuzkhf Gtpj;jl;Lfs; efUfpd;wd.  
 a. $w;W I jtW II rhp    b. $w;W I kw;Wk; II jtW  
 c. $w;W I rhp II jtW    d. $w;W I kw;Wk; II rhp  

e. tpil njhpatpy;iy  
 
135. Deposits of fine silt blown by wind is called as 

a. Loess   b. Barchans   c. Hamada   
d. Ripples   e. Answer not known 
fhw;wpd; gbaitj;jyhy; cUthf;fg;gLk; nkd;gbTfisf; nfhz;l epyj;Njhw;wk; _______ 
MFk;.  
a. fhw;wb tz;ly;  b. gh;fhd;   c. `khlh    
d. kzy; rpw;wiyfs;  e. tpil njhpatpy;iy 

 
136. Which one of the following is a second order land form? 

a. Asia    b. Deccan Plateau  c. Kulu valley     
d. Marina Beach.  e. Answer not known 

 fPo;f;fz;ltw;wpy; vJ ,uz;lhk; epiy epyj;Njhw;wk;?  
 a. Mrpah   b. jf;fhz gPlG+kp  c. FY gs;sj;jhf;F    

d. nkhpdh flw;fiu  e. tpil njhpatpy;iy 
 
137. All types of clouds are found in the __________  

a.   Troposphere         b. Ionosphere   c.   Mesosphere         
 d. Exosphere   e. Answer not known 

 midj;J tif Nkfq;fSk; _________ y; fhzg;gLfpwJ  
 a. fPoLf;F    b. mad mLf;F   c. ,ilaLf;F   

d. NkyLf;F    e. tpil njhpatpy;iy 
 
138. Western disturbances cause rainfall in _________. 

a. Tamilnadu   b. Kerala    c. Punjab    
d. Madhya Pradesh  e. Answer not known 
Nkw;fj;jpa ,ila+Wfshy; kiog;nghopitg; ngWk; gFjp _________   

  a. jkpo;ehL   b. Nfush   c. gQ;rhg;   
d. kj;jpag;gpuNjrk;  e. tpil njhpatpy;iy 

 
139. Climate of India is labelled as _________. 

a. Tropical humid climate   b. Equatorial Climate 
c. Tropical Monsoon Climate  d. Temperate Climate 
e. Answer not known 

  ,e;jpahtpd; fhyepiy ______ Mf ngahplg;gl;Ls;sJ. 
 a. mad kz;ly <uf; fhyepiy  b. epyeLf;Nfhl;Lf; fhyepiy 
 c. madkz;ly gUtf;fhw;Wf; fhyepiy d. kpj madkz;lyf; fhyepiy 

e. tpil njhpatpy;iy 
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140. The monsoon forests are otherwise called as _________. 
a. Tropical evergreen forest  b. Deciduous forest  c. Mangrove Forest  
d. Mountain forest    e. Answer not known 
gUtf;fhw;W fhLfs; ,t;thW miof;fg;gLfpd;wd. 

  a. mad kz;ly gRik khwhf; fhLfs; b. ,iyAjph;f; fhLfs; 
  c. khq;FNuht; fhLfs;   d. kiyf; fhLfs; 
  e. tpil njhpatpy;iy 
 
141. Consider the following  

Assertion(A): The Himalayas acts as a climatic barrier. 
Reason(R) :  The Himalayas prevents cold winds from central Asia and keep the Indian 
Sub-continent warm. 
a. Both (A) and (B) are true: R explains A 
b. Both (A) and (B) are true: R does not explain A 
c. (A) is correct (R) is false 
d. (A) is false (R) is true 
e. Answer not known 
gpd;tUtdtw;iw Muha;f 
$w;W (A): ,ka kiyahdJ xU fhyepiy muzhfr; nray;gLfpwJ. 
fhuzk; (R): ,kakiy kj;jpa MrpahtpypUe;J tPRk; Fsph;f;fhw;iw jLj;J ,e;jpaj; 
Jizf;fz;lj;ij kpjntg;gkhf itj;jpUf;fpwJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp $w;Wf;fhd fhuzk; rhp 
b. (A) kw;Wk; (R) ,uz;Lk; rhp $w;Wf;fhd fhuzk; jtW 
c. $w;W rhp fhuzk; jtW 
d. $w;W jtW fhuzk; rhp 
e. tpil njhpatpy;iy 

 
142. Consider the following statement. 

Assertion (A) : Horticulture involves cultivation of fruits, vegetables, and  flowers. 
Reason (R) : India ranks first in the world in the production of mango, banana, and citrus 
fruits. 
a. Both (A) and (R) are true and (R) explains (A) 
b. Both (A) and (R)are true: (R) does not explain (A) 
c. (A) is correct (R) is false 
d. (A) is false (R) is true 
e. Answer not known 
$w;W (A): goq;fs; fha;tiffs; kw;Wk; g+f;fs; gaphplypy; <LgLtJ Njhl;lf;fiyj; 
JiwahFk;. 
fhuzk; (R): cyfstpy; ,e;jpah kh> thio kw;Wk; rpl;u]; gotif cw;gj;jpapy; 
Kjyplj;jpy; cs;sJ. 
a. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp> fhuzk; $w;Wf;fhd rhpahd tpsf;fkhFk;. 
b. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp> fhuzk; $w;Wf;fhd rhpahd tpsf;fk; my;y. 
c. $w;W rhp> fhuzk; jtW 
d. $w;W jtW> fhuzk; rhp 
e. tpil njhpatpy;iy 

 
143. Consider the following  

Assertion (A): Alluvial soil is formed by the deposition of eroded and decayed materials 
brought by the rivers. 
Reason (R): Paddy and wheat are grown well in the soil. 
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a. Both (A) and (R) are true and (R) explains (A) 
b. Both (A) and (R)are true and (R) does not explain (A) 
c. (A) is correct (R) is false 
d. (A) is false (R) is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W: tz;ly; kz; MWfspd; %yk; mhpf;fg;gl;L gbaitf;fg;gl;l kf;fpa nghUl;fshy; 
Md xd;W. 

  fhuzk;: ney; kw;Wk; NfhJik tz;ly; kz;zpy; ed;F tsUk;. 
a. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp> $w;W fhuzj;jpw;fhd rhpahd tpsf;fkhFk;. 
b. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp> $w;Wf;fhd fhuzk; rhpahd tpsf;fk; my;y. 
c. $w;W rhp> fhuzk; jtW 
d. $w;W jtW> fhuzk; rhp 
e. tpil njhpatpy;iy 

 
144. The famous Sindri Fertilizer Plant is located in 

a. Jharkhand    b. Bihar    c. Rajasthan    
d. Assam   e. Answer not known 

      Gfo;ngw;w rpe;jphp cuj;njhopyfk; mike;Js;s khepyk;. 
  a. [hh;fz;l;   b. gPfhh;   c. ,uh[];jhd;  

d. mrhk;   e. tpil njhpatpy;iy 
 
145. The National Remote sensing Centre (NRSC) is located at _________. 

a. Bengaluru   b. Chennai    c. Delhi    
d. Hyderabad e. Answer not known 

    Njrpa njhiyAzh;T I kak; mike;Js;s ,lk;  
  a. ngq;f@U  b. nrd;id    c. GJnly;yp   

d. i`juhghj; e. tpil njhpatpy;iy 
 

146. The major import item of India is  
a. Cement   b. Jewells    c. Tea    
d. Petroleum  e. Answer not known 

  ,e;jpahtpd; Kf;fpa ,wf;Fkjp nghUs; 
  a. rpnkz;l;  b. Mguzq;fs;   c. Njapiy   

d. ngl;Nuhypak; e. tpil njhpatpy;iy 
 

147. Consider the following 
Assertion (A) : The area lies to the South of Tropic of cancer is hot  
Reason (R) : Tropic of cancer divides India into two halves. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A)  
c. (A) is true but (R) is false   
d. (A) is false but (R) is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : flfNuiff;F njw;Nf cs;s gFjp ntg;gkhdJ. 
fhuzk; (R) : flfNuif ,e;jpahit ,U rkgFjpfshf gphpf;fpwJ. 
a. (A) kw;Wk; (R) rhpahdJ.  NkYk; (A)–d; rhpahd tpsf;fk; (R) MFk;  
b. (A) kw;Wk; (R) rhpahdJ.  Mdhy; (R)> (A)–d; rhpahd tpsf;fk; my;y  
c. (A) rhp> (R) jtW    
d. (A) jtW> (R) rhp 
e. tpil njhpatpy;iy 
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148. The diagram used to show the distribution of earth’s solid surface at elevations above 
and below the mean sea level is  
a. Hypsometric curve b. Lorenz curve  c. Clinographic curve  
d. Frequency curve  e. Answer not known 
Gtp Nkw;gug;gpd; cauk; kw;Wk; jho;tpid ruhrhp fly; kl;lj;jpypUe;J fhl;l gad;gLk; 
tiuglk;  
a. `pg;Nrhnkl;hpf; tisNfhL  b. yhud;]; tisNfhL   
c. fpisNdhfpuhgpf; tisNfhL  d. mjph;ntz; tisNfhL 
e. tpil njhpatpy;iy 
 

149. Match List I with List II  
List I - Planets                      List II — Revolution Period 
A. Mars                                  1. 88 days 
B. Earth                                 2. 225 days    
C. Mercury                          3. 687 days 
D. Venus                                4. 365 days 
 A B C D 
a.     3 4 2 1 
b. 3 4 1 2 
c.      2  4 3 1 
d.   2 4 1        3 
e. Answer not known 
gl;bay; I cld; gl;bay; II-Ig; nghUj;Jf. 
gl;bay; I – Nfhs;fs;  gl;bay; II – Rw;Wif fhyk; 
A. nrt;tha;   1. 88 ehl;fs; 
B. ékp    2. 225 ehl;fs; 
C. Gjd;   3. 687 ehl;fs; 
D. nts;sp   4. 365 ehl;fs; 
 A B C D 
a.     3 4 2 1 
b. 3 4 1 2 
c.      2  4 3 1 
d.   2 4 1        3 
e. tpil njhpatpy;iy 
 

150. The term 'seismic gap' refers to 
a. A region       b. A period       c. A disaster        
d. Seismic prediction e. Answer not known 
‘Gtpajph;T ,ilntsp’ vDk; fiyr;nrhy; vjidf; Fwpf;fpwJ. 
a. xU gpuNjrk;  b. xU fhy msT   c. xU Nghplh;      
d. Gtpajph;T Kw;fzpg;G e. tpil njhpatpy;iy 

 
 
 
 
 
 
 
 


